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DISTANCE EDUCATION 

COMMON FOR M.Com./M.Com. (F & C) DEGREE 
EXAMINATION, DECEMBER 2024. 

First Semester 

MANAGEMENT CONCEPTS 

(CBCS 2018–2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. What is Management? 

 ÷©»õsø© GßÓõÀ GßÚ? 

2. What do you mean by forecasting? 

 •ß Po¨¦ £ØÔ }Âº AÔÁx GßÚ? 

3. What is decision making? 

 •iÄ GkzuÀ GßÓõÀ GßÚ? 

4. What is meant by organization? 

 Aø©¨¦•øÓ £ØÔ AÔÁx GßÚ? 

5. What is upward communication? 

 ÷©À÷|õUQ ö\À¾® uPÁÀöuõhº¦ GßÓõÀ GßÚ? 

6. Explain the term leadership. 

 uø»ø©÷¯Ø¦ GÝ® £uzøu ÂÍUSP. 
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7. Define the term directing. 

 C¯USÂzuÀ GÝ® £uzøu Áøμ¯ÖUP. 

8. What is meant by supervision? 

 ÷©Ø£õºøÁ £ØÔ AÔÁx GßÚ? 

9. What is Management Information System? 

 ÷©»õsø© uPÁÀ•øÓ GßÓõÀ GßÚ? 

10. What do you mean by TQM? 

 TQM £ØÔ }Âº AÔÁx GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL the questions, choosing either (a) or (b). 

11. (a) What are the importance of Management? 

  ÷©»õsø©°ß •UQ¯zxÁzøu ÂÍUSP. 

Or 

 (b) Bring out the importance of planning. 

  vmhªku¼ß •UQ¯zxÁzøu u¸P. 

12. (a) What are the characteristics of organization? 

  Aø©¨¤ß Snõv]¯[PÒ ¯õøÁ? 

Or 

 (b) What is decentralization? State its merits. 

  £μÁ»õUP® GßÓõÀ GßÚ? AuÝøh¯ |ßø©PøÍ 
TÖP. 
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13. (a) State the general principles of staffing. 

  £o¯õÍº {¯©Úzvß ö£õxÁõÚ ÷Põm£õkPøÍ 
TÖP. 

Or 

 (b) What are the barriers of communication? 

  uPÁÀ öuõhº¤ß uøhPÒ ¯õøÁ? 

14. (a) Discuss the various controlling techniques. 

  £À÷ÁÖ Pmk£õmk ²UvPøÍ ÂÁõvUP. 

Or 

 (b) What are the characteristics of good co-ordination? 

  J¸ |À» J¸[Qøn¨¤ß Snõv]¯[PÒ ¯õøÁ? 

15. (a) What are the principles of supervisor? 

  ÷©Ø£õºøÁ¯õÍ›ß öPõÒøPPÒ ¯õøÁ?  

Or 

 (b) Describe the different process of management 
information system. 

  ÷©»õsø© uPÁÀ •øÓ°ß £À÷ÁÖ £i{ø»PøÍ 
ÂÁõvUPÄ®. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Discuss the various steps involved in managerial 
planning. 

 ÷©»õsø© vmhªku¼À Ah[Q²ÒÍ £À÷ÁÖ 
£i{ø»PøÍ ÂÁ›UP. 

17. Explain the principles of organization in detail. 

 Aø©¨¤ß öPõÒøPPøÍ Â›ÁõP ÂÍUSP. 
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18. Describe the different types of leaders. 

 uø»ø©÷¯Ø£Á›ß öÁÆ÷ÁÖ ÁøPPøÍ ÂÍUSP. 

19. Enumerate the various controlling process. 

 Pmk£kzu¼ß £À÷ÁÖ £iPøÍ ÂÁõvUP. 

20. Explain the various factors affecting business ethics. 

 ÁoP ö|Ô•øÓPøÍ £õvUS® PõμoPøÍ ÂÍUSP. 

 

––––––––––– 
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DISTANCE EDUCATION 

M.Com. DEGREE EXAMINATION, DECEMBER 2024. 

First Semester 

MANAGERIAL ECONOMICS 

(CBCS 2018–2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What is Managerial Economics? 

 ÷©»õsø© ö£õ¸Íõuõμ® GßÓõÀ GßÚ? 

2. Define the term Income Elasticity of Demand. 

 Á¸©õÚ ÷uøÁ ö|QÌa]ø¯ Áøμ¯ÖUP. 

3. What is "Marginal rate of substitution"? 

 ""CÖv{ø» ÂQuzvß £v¼k'' GßÓõÀ GßÚ? 

4. What are Public Utilities? 

 ö£õx£¯ß£õmk {ÖÁÚ[PÒ Gß£Ú ¯õøÁ? 

5. What do you mean by the term 'profit'? 

 "C»õ£®' GÝ® ö\õÀø» £ØÔ }Âº AÔÁx GßÚ? 

6. Mention the basic rules of probability thermos. 

 {PÌuPÄ ÷Põm£õkPÎß Ai¨£øh ÂvPøÍ TÖP. 
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7. What is business cycle? 

 ÁoP _ÇØ] GßÓõÀ GßÚ? 

8. What is meant by monopoly? 

 •ØÖ›ø© £ØÔ AÔÁx GßÚ? 

9. What is product mix? 

 EØ£zv P»øÁ GßÓõÀ GßÚ? 

10. Write short notes on line pricing. 

 Á› Âø» £ØÔ ]Ö SÔ¨¦ ÁøμP. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL the questions, choosing either (a) or (b). 

11. (a) What are the different types of foreign investment? 

  A¯À|õmk •u½miß öÁÆ÷ÁÖ ÁøPPÒ ¯õøÁ? 

Or 

 (b) Explain the characteristics of business cycle. 

  ÁoP _ÇØ]°ß £s¦PøÍ ÂÍUSP. 

12. (a) Analyse the cost output relationship in the long run. 

  }sh Põ»zvÀ ö\»Ä ©ØÖ®  EØ£zvUQøh÷¯¯õÚ 
EÓÄ •øÓø¯ £S¨£õ´Ä ö\´P. 

Or 

 (b) Explain the advantages of small-scale production. 

  SÖQ¯ AÍÂ»õÚ EØ£zv°ß |ßø©PøÍ 
ÂÍUSP. 
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13. (a) State the usefulness of break-even analysis. 

  C»õ£ |mh©ØÓ ¦ÒÎ £S¨£õ´Âß £¯ß£õkPøÍ 
TÖP. 

Or 

 (b) What are the features of 'Monopolistic Competition'? 

  "•ØÖ›ø© ÷£õmi°ß' ußø©PÒ ¯õøÁ? 

14. (a) Briefly explain the different methods used in pricing 
public utilities. 

  ö£õx£¯ß£õmk {ÖÁÚ[PÎÀ Âø»°k® ÷£õx 
£¯ß£kzuUTi¯ •øÓPøÍ _¸UP©õP ÂÍUSP. 

Or 

 (b) Describe the various types of foreign investment. 

  A¯À|õmk •u½miß £À÷ÁÖ ÁøPPøÍ 
ÂÁõvUP. 

15. (a) Differentiate between 'Accounting Profit' and 
'Economic Profit'. 

  PnUQ¯À C»õ£® ©ØÖ® ö£õ¸Íõuõμ C»õ£zøu 
÷ÁÖ£kzxP.  

Or 

 (b) What are the methods used in assessing the 
valuation of stock of firm? 

  J¸ {ÖÁÚzvß \μUQ¸¨ø£ ©v¨¥k® ÷£õx 
£¯ß£kzuUTi¯ •øÓPÒ ¯õøÁ?  

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the concept of Managerial Economics. 

 ÷©»õsø© ö£õ¸Íõuõμzvß P¸zøu ÂÍUSP. 



D–6613 
    4

17. What is industrial sickness? What are its causes and 
Remedies? 

 {ÖÁÚzvß £»ÃÚ® GßÓõÀ GßÚ? AuØPõÚ Põμn® 
©ØÖ® wºÄPÒ ¯õøÁ? 

18. Enumerate the Economic growth and concentration of 
economic power of large scale industry. 

 ö£›¯ öuõÈØ\õø»°ß ö£õ¸Íõuõμ ÁÍºa] ©ØÖ® 
J¸•P¨£kzxuø» £ØÔ GkzxøμUP. 

19. Explain the foreign direct investment inflow in India. 

 C¢v¯õÂ¾ÒÍ A¯À|õmk ÷|μi •u½mk EÒÏk £ØÔ 
ÂÍUSP. 

20. Describe the Government measures to control monopoly 
in India. 

 C¢v¯õÂÀ •ØÖ›ø©ø¯ Pmk¨£kzu Aμ\õ[P® 
÷©ØöPõskÒÍ |hÁiUøPPøÍ ÂÍUSP. 

 

––––––––––– 
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DISTANCE EDUCATION 

COMMON FOR M.Com./M.Com. (F & C) DEGREE 
EXAMINATION, DECEMBER 2024. 

First Semester 

ADVANCED ACCOUNTING 

(CBCS 2018–2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. What is meant by Narration? 

 SÔ¨ö£ÊxuÀ £ØÔ AÔÁx GßÚ? 

2. What is meant by Journal Proper? 

 •øÓ¯õÚ SÔ¨÷£k £ØÔ AÔÁx GßÚ? 

3. What is meant by Conversion Method? 

 ©õØÖuÀ •øÓ £ØÔ AÔÁx GßÚ? 

4. Define the term Bill of Exchange. 

 ©õØÖ^mk GÝ® £uzøu Áøμ¯ÖUP. 

5. What is Pass Book? 

 ö\À÷»k GßÓõÀ GßÚ? 

6. What is meant by Capital Expenditure? 

 •u¼Ú ö\»Ä £ØÔ AÔÁx GßÚ? 

Sub. Code 
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7. What is Consignment Account? 
 AÝ¨¥mk PnUS GßÓõÀ GßÚ? 

8. What is meant by Minimum Rent? 
 SøÓ¢u£m\ ÁõhøP £ØÔ AÔÁx GßÚ? 

9. What do you mean by Cash in transit? 
 £o°øh öμõUP® £ØÔ }Âº AÔÁx GßÚ? 

10. What do you mean by Instalment Purchase System? 
 uÁønU öPõÒ•uÀ •øÓ £ØÔ }Âº AÔÁx GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL the questions, choosing either (a) or (b). 

11. (a) What are the advantages of Accounting? 
  PnUQ¯¼ß |ßø©PÒ ¯õøÁ? 

Or 

 (b) Enter the following transaction in the sales returns 
account. 

  January 2022, 1  Mohan returned goods worth  
Rs. 250 

     10  Gopal returned goods worth  
 Rs. 500 

     28 Balu returned goods worth  
Rs. 750. 

  ¤ßÁ¸® |hÁiUøPPøÍ ÂØ£øÚ v¸¨£ PnUQÀ 
£vÄ ö\´P. 

  áÚÁ› 2022,  1  ÷©õPß v¸¨¤¯ \μUQß 
©v¨¦ ¹. 250 

     10  ÷Põ£õÀ v¸¨¤¯ \μUQß 
©v¨¦ ¹. 500 

     28 £õ¾ v¸¨¤¯ \μUQß ©v¨¦ 
¹. 750 
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12. (a) Ram, retail merchant commenced business with a 
capital of Rs. 12,000 on 01.01,2020. Subsequently on 
01.05.2020 he invested further capital of Rs. 5,000. 
During the year, he has withdrawn Rs. 2,000 for his 
personal use. on 31.12.2020 his assets and liabilities 
were as follows : 

Assets and Liabilities Rs. 

Cash at bank 3,000

Debtors 4,000

Stock 16,000

Furniture 2,000

Creditors 5,000

  Calculate the profit or loss made during the year 
2020. 

  01.01.2020 AßÖ Cμõ® GÝ® ]À»øÓ Â¯õ£õ›  
¹. 12,000 •u¾hß Â¯õ£õμ® öuõh[QÚõº. ÷©¾® 
öuõhºa]¯õP 01.05.2020 AßÖ AÁº ¹. 5,000 
TkuÀ •uÀ ÷£õmhõº. AÆÁõsiÀ AÁ¸øh¯ 
ö\õ¢u £¯ÝUPõP ¹. 2,000 GkzxU öPõshõº. 
31.12.2020 AßÖ AÁμx ö\õzxUPÒ ©ØÖ® 
ö£õÖ¨¦PÒ ¤ßÁ¸©õÖ C¸¢ux. 

ö\õzxUPÒ ©ØÖ® ö£õÖ¨¦PÒ ¹. 

Á[Q°À öμõUP® 3,000

PhÚõÎPÒ 4,000

\μUQ¸¨¦ 16,000

AøÓP»ß 2,000

PhÜ¢÷uõºPÒ 5,000

  2020 B® BsiÀ C»õ£® AÀ»x |mhzøu 
PnUQkP. 

Or 
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 (b) The following are the account balance of Vimal 
Agency after preparing Trading and Profit and Loss 
account for the year ending 31st December 2014. 

 Rs.  Rs. 

Land and Building 1,50,000 Furniture 1,00,000

Closing stock 60,000 Bills payable 40,000

Cash in hand 75,000 Sundry creditors 50,000

Cash at bank 50,000 Capital 4,00,000

Sundry debtors 30,000 Net profit of the year 25,000

Bills receivable 50,000  

  Prepare Balance sheet of Vimal Agency. 

  ¤ßÁ¸® ÂÁμ[PÒ i\®£º 31, 2014 B® BsiÀ 
Â¯õ£õμ ©ØÖ® C»õ£ |mhU PnUøP u¯õ›zu 
¤ÓS Â©À HöáßêUS›¯x. 

 ¹.  ¹. 

{»® ©ØÖ® Pmih® 1,50,000 AøÓP»ß 1,00,000

CÖv \μUQ¸¨¦ 60,000 ö\¾zuØS›¯ ©õØÖa^mk 40,000

øP°¸¨¦ öμõUP® 75,000 £Ø£» PhÜ¢÷uõºPÒ 50,000

Á[Q°¸¨¦ öμõUP® 50,000 •uÀ 4,00,000

£Ø£» PhÚõÎPÒ 30,000 AÆÁõsøh¯ {Pμ C»õ£® 25,000

ö£ÖuØS›¯ ©õØÖa^mk 50,000  

  Â©À Höáßê°ß C¸¨¦{ø»U SÔ¨ø£ u¯õ›UP. 

13. (a) The Bank Overdraft of Mr. Kamal on 31-12-2018 as 
per Cash Book is Rs. 4,500. From the following 
particulars, prepare bank reconciliation statement: 

  (i) Unpresented cheques Rs. 1,500 

  (ii) Uncleared cheques Rs. 850 

  (iii) Bank interest debited in the pass book only 
Rs. 250 
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  (iv) Bills collected and credited in the pass book 
only Rs. 400 

  (v) Cheque of Ashok dishonoured Rs. 250 

  (vi) Cheque issued to Kumar entered in the cash 
column of the cash book Rs. 150. 

  31.12.2018 AßÖ v¸. P©À Gß£Á›ß öμõUP 
Hmiß £i ÷©ÀÁøμ¨£ØÖ ¹. 4,500. ¤ßÁ¸® 
Â£μ[PÎ¼¸¢x Á[Q \›Pmk® £mi¯ø» u¯õ›UP. 

  (i) \©º¤UP¨£hõu Põ÷\õø»PÒ ¹. 1,500 

  (ii) Á`»õPõu Põ÷\õø»PÒ ¹. 850 

  (iii) Á[Q ö\À÷»miÀ ©mk® £ØÖ 
øÁUP¨£mkÒÍ Á[Q Ámi ¹. 250 

  (iv) Á[Q ö\À÷»miÀ ©mk® Á`»õUP¨£mk 
ÁμÄ øÁUP¨£mh Esi¯À ¹. 400 

  (v) A÷\õUQß Põ÷\õø» AÁ©vUP¨£mhx  
¹. 250 

  (vi) S©õ¸US Âkzu Põ÷\õø» öμõUP Hmiß 
öμõUP £zv°À £vÄ ö\´¯¨£mhx ¹. 150. 

Or 

 (b) Information are given below : 

Particulars Dr. (Rs.) Cr. (Rs.)

Prize Distribution Fund – 15,000 

Prize Distribution Fund Investment 15,000 – 

Interest received on such investment – 600 

Prize distributed 300 – 

  How will you show the amount in the final accounts 
of a non-trading concern? 
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  uPÁÀPÍõÚx R÷Ç öPõkUP¨£mkÒÍÚ.  

ÂÁμ[PÒ £ØÖ (¹.) ÁμÄ (¹.)

£›_ £Qº¢uÎ¨¦ {v – 15,000 

£›_ £Qº¢uÎ¨¦ {v •u½k 15,000 – 

•u½miß «uõÚ ö£ØÓ Ámi – 600 

£›_ £Qº¢uÎzux 300 – 

  ÁoP ÷|õUP©ØÓ {ÖÁÚzvß CÖv PnUQÀ 
CzöuõøP¯õÚx G¨£i Põs¤UP¨£k® Gß£øu 
PõmkP. 

14. (a) A machine was purchased on 1st January 2014 at a 
cost of Rs. 19,000 and Rs. 1,000 was spent on its 
installation. The depreciation is written off at 10% 
on the original cost method every year. The machine 
was sold for Rs. 10,000 on 30th September 2015. 
Show the Machinery account for the two years. 

  áÚÁ› 1, 2014 AßÖ ¹. 19,000 AhUPÂø» 
öPõsh J¸ C¯¢vμzøu Áõ[Q ¹. 1,000 {ÖÄuÀ 
ö\»Ä ö\´¯¨£mhx. Bsk÷uõÖ® Esø©¯õÚ 
AhUPÂø» •øÓ°À 10% ÷u´©õÚ©õÚx 
JxUP¨£kQÓx. ö\¨h®£º 30, 2015 AßÖ 
C¯¢vμ©õÚx ¹. 10,000 ÂØP¨£mhx. Cμsk 
BskPÐUS C¯¢vμ PnUøP u¯õ›UP. 

Or 

 (b) Ravi took a colliery on lease. The dead rent was 
Rs. 750 a year. Merging into a royalty of 35 paise 
per tonne of Coal raised with the right to recover 
short workings out of royalties of two subsequent 
years from the period in which the short workings 
arose. The output raised were : 

Year 1 2 3 4 5 

Output (tonns) 1000 1500 2500 1500 1000

  Prepare short working account. 
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  μÂ _μ[P® JßøÓ SzuøPUS GkzxÒÍõº. 

SøÓ¢u£m\ ÁõhøP Á¸hzvØS ¹. 750. JÆöÁõ¸ 

hßÝUS® 35 Põ_PÒ Ãu® E›ø©zöuõøP 

ö\¾zxÁuõP J¨¦UöPõshõº. 

  JÆöÁõ¸ Bsi¾® E›ø©zöuõøPø¯ Âh 

Tku»õP EÒÍ SøÓ¢uÍÄ SzuøP öuõøPø¯ 

Akzu Cμsk BskUSÒ «mP ÷Ásk®. EØ£zv 

Â£μ® ¤ßÁ¸©õÖ : 

Á¸h® 1 2 3 4 5 

EØ£zv (hßPÎÀ) 1000 1500 2500 1500 1000

  SøÓ EØ£zv PnUQøÚ u¯õº ö\´P. 

15. (a) From the following particulars prepare 

Departmental Trading and Profit and Loss Account 

for the year ending 31.12.2015. 

 Dept. X

(Rs.) 

Dept. Y 

(Rs.) 

Stock on 01.01.2015 9,000 8,400

Purchases 27,000 21,600

Sales 42,000 36,000

Direct expenses 5,490 8,520

Postage 360 360

Stock on 31.12.2015 10,800 4,800

  Indirect expenses for the entire business was  

Rs. 3,900 which are to be divided in the proportion 

of sales of the two departments. 
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  ¤ßÁ¸® uPÁÀPÎ¼¸¢x 31.12.2015 CÀ 
•iÁøh²® xøÓPÎß Â¯õ£õμ C»õ£ |mhU 
PnUøP u¯õ›UP. 

 xøÓ 
X 

(¹.) 

xøÓ 
Y 

(¹.) 

01.01.2015 AßøÓ¯ \μUQ¸¨¦ 9,000 8,400

öPõÒ•uÀ 27,000 21,600

ÂØ£øÚ  42,000 36,000

÷|μi ö\»ÂÚ[PÒ 5,490 8,520

u£õÀ ö\»ÄPÒ  360 360

31.12.2015 AßøÓ¯ \μUQ¸¨¦ 10,800 4,800

  Â¯õ£õμ •Êø©US® EÒÍ ©øÓ•P ö\»ÂÚ[PÒ 
¹. 3,900. CzöuõøPø¯ C¸ xøÓPÎß ÂØ£øÚ 
Ai¨£øh°À £Qº¢x öPõÒÍ ÷Ásk®.  

Or 

 (b) Bangalore Motor Service buys a motor car on 
instalment system from Hind Motors Ltd. On 
01.01.2021 under which payment is to be made on 
December 31 for 4 years @ Rs. 50,000 p.a. interest 
being calculated at 5% p.a. The cash price of the car 
was Rs. 1,77,300. Depreciate the car at 10% p.a. on 
diminishing balance method. Calculate the amount 
of interest included in each instalment. 

  ö£[PÑº ÷©õmhõº \ºÃì uÁøn •øÓ°À 
01.01.2021 AßÖ C¢x ÷©õmhõº {Ö©zvh® 
C¸¢x J¸ ÷©õmhõº Põøμ Áõ[Q¯x. JÆöÁõ¸ 
Bsk® i\®£º 31 AßÖ ¹. 50,000 Ãu® |õßS 
BskPÐUS öuõøP¯õÚx ö\¾zu¨£h ÷Ásk®. 
Ámi¯õÚx BskUS 5% BS®. ÷©õmhõº Põ›ß 
öμõUPÂø» ¹. 1,77,300. Bsk JßÖUS 10% 
÷u´©õÚ©õÚx SøÓ¢x ö\À ©v¨¦ •øÓ°À 
PnUQh¨£kQÓx. JÆöÁõ¸ uÁønz öuõøP°¾® 
EÒÍ Ámi öuõøPø¯ PnUQkP. 
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SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the various types of accounting concepts. 
 PnUQ¯À ÷Põm£õmiß £À÷ÁÖ ÁøPPøÍ ÂÍUSP. 

17. A sold goods to the value of Rs. 4,000 to B taking a bill at 
3 months therefore. A discounted the bill at 10% p.a. with 
his bank. On maturity, the bill was returned by the bank 
dishonoured with Rs. 10 as noting charges, B paid  
Rs. 1,000 and the noting charges and gave another bill at 
three months for Rs. 3,000 and 10% interest but before 
maturity he had become bankrupt and ultimately paid to 
his creditors 80 paise in the rupee. Pass journal entries in 
the books of A and prepare B’s account in the ledger of A. 

 A ¹. 4,000 ö£Ö©õÚ \μUSPøÍU BUS ÂØ£øÚ ö\´x  
3 ©õu Esi¯ø» GkzxU öPõshõº. A A¢u Esi¯ø» 
Bsk JßÖUS 10 \uÃuzvÀ AÁ¸øh¯ Á[Q°À 
Ámh® ö\´uõº. •vºÂß ÷£õx, A¢u Esi¯À 
©ÖUP¨£mk v¸¨£¨£mhx SÔUøPU Pmhn® ¹. 10  
B ¹. 1,000 ©ØÖ® SÔUøPU PmhnzøuU öPõkzx  
¹. 3,000 ©ØÖ® 10 \uÃu ÁmiUS  ÷ÁÖ J¸ Esi¯ø» 
‰ßÖ ©õu Põ»zvØSU öPõkzuõº. BÚõÀ •vºÄUS  
•ß AÁº ö|õi¨¦ {ø» Aøh¢uõº. Cuß  
Põμn©õP PhÜ¢÷uõ¸US ¹£õ´ JßÖUS 80 ø£\õ 
öPõkUP¨£mkÒÍx. A HmiÀ SÔ¨÷£mk¨ £vÄ u¢x 
ö\¢vÀ HmiÀ B PnUS u¯õ›UPÄ®. 

18. From the following details prepare an income and 
expenditure account for the year ending 31st December 
2017. 

Receipts and Payments Account 
Receipts  Rs. Payments Rs. 

To Balance b/d  250 By Salaries 1,200

To Subscription   By General expenses 300

2016 250  By Electricity 200

2017 1,000  By Books 100

2018 200 1,450 By News papers 400
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Receipts  Rs. Payments Rs. 

To Sale of old furniture    By Postage 50

(Cost Rs. 100)  60 By Furniture 250

To Rent received  740 By Balance cid 500

To Entertainment Gains  400  

To Sale of News papers  100   

  3,000  3,000

 Additional information :  

 (a) The club has 50 members each paying an annual 
subscription of Rs. 25. Subscriptions outstanding on 
31st December 2016 were Rs. 300. 

 (b) On 31st December 2017, salaries outstanding 
amounted to Rs. 100. Salaries paid included Rs. 100 
for the year 2016. 

 (c) On 01.01.2017 the Club owned land and buildings 
valued at Rs. 10,000. Furniture Rs. 600 and books 
Rs. 500. 

 2017 i\®£º 31 AßÖ •i²® Á¸Áõ´ ö\»ÂÚU 
PnUøP ¤ßÁ¸® uPÁÀPÎ¼¸¢x u¯õ›UP. 

ö£ÖuÀ ©ØÖ® ö\¾zxuÀ PnUS  
ö£ÖuÀPÒ   ¹. ö\¾zxuÀPÒ  ¹. 

C¸¨¦ R/öPõ  250 \®£Í® 1,200
\¢uõ  ö£õx ö\»ÂÚ[PÒ 300

2016 250 ªßPmhn® 200

2017 1,000 ¦zuP[PÒ 100

2018 200 1,450 ö\´vuõÒPÒ 400
£øÇ¯ AøÓP»ß ÂØÓx  u£õÀ ö\»Ä 50
(AhUPÂø» ¹. 100)  60 AøÓP»ß 250
ÁõhøP ö£ØÓx  740 C¸¨¦ R/C 500
ö£õÊx÷£õUS ‰»® Á¸©õÚ®  400  

ö\´vuõÒPÒ ÂØÓx  100   

  3,000  3,000
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 TkuÀ ÂÁμ[PÒ : 

 (A) ö©õzu® 50 EÖ¨¤ÚºPÒ EÒÍÚº. JÆöÁõ¸Á¸® 
ö\¾zuUTi¯ Bsk \¢uõ ¹. 25. 31 i\®£º 2016À 
ö£Ó÷Ási¯ \¢uõ ¹. 300. 

 (B) 31 i\®£º 2017, AßÖ öPõk£h ÷Ási¯ \®£Í® 
¹. 100. CÆÁõsiÀ ö\¾zv¯ \®£ÍzvÀ 
2016UPõÚ \®£Í® ¹. 100 ÷\º¢xÒÍx. 

 (C) 01.01.2017 AßÖ AUPÇPzvÀ ¹. 10,000 ©v¨¦ÒÍ 
{»® ©ØÖ® Pmih•® AøÓP»ß ¹. 600, ¦zuP® 
¹. 500 C¸¢ux. 

19. Distinguish between consignment and joint venture. 

 AÝ¨¥k ©ØÖ® CønÂøÚø¯ ÷ÁÖ£kzxP. 

20. Kolkata HO invoiced the goods to its Pune branch at cost 
plus 25%. From the following details prepare the Pune 
branch a/c for the year 2017. 

 Rs. 

Stock 1.1.2017 invoice price 1,250

Stock 31.12.2017 invoice price 1,500

Debtors 1.1.2017 700

Debtors 31.12.2017 900

Cash sales for the year 5,700

Credit sales for the year 3,500

Goods invoiced from Kolkata 9,100

Rent 400

Wages 340

Sundry expenses 80



D–6614 
    12

 öPõÀPzuõ uø»ø© A¾Á»P® §÷Ú QøÍUS \μUSPøÍ 
AhUPÂø»÷¯õk 25% ÷\ºzx £mi¯¼kQÓx. RÌ 
öPõkzxÒÍ Â£μ[PÎ¼¸¢x §÷Ú QøÍU PnUøP 
2017–® BsiØS u¯õº ö\´P. 

 ¹. 

\μUQ¸¨¦ 1.1.2017 Chõ¨¦Âø» 1,250
\μUQ¸¨¦ 31.1.2017 Chõ¨¦Âø» 1,500
PhÚõÎPÒ 1.1.2017 700
PhÚõÎPÒ 31.1.2017 900
CÆÁõsiß öμõUP ÂØ£øÚ  5,700
CÆÁõsiß Phß ÂØ£øÚ 3,500
\μUS Chõ¨¦ Âø» öPõÀPzuõÄUS  
AÝ¨£¨£mhx 

9,100

ÁõhøP 400
T¼ 340
£Ø£» ö\»ÄPÒ 80

 

––––––––––– 
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DISTANCE EDUCATION 

COMMON FOR M.Com./M.Com. (F & C) DEGREE 
EXAMINATION, DECEMBER 2024. 

First Semester 

BUSINESS ENVIRONMENT 

(CBCS 2018–2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. What is meant by Business Environment? 

 ÁoP `ÇÀ £ØÔ AÔÁx GßÚ? 

2. What do you understand by Social Responsibility of a 
Business? 

 J¸ ÁoPzvß \‰P¨ ö£õÖ¨¤ß ‰»® }[PÒ GßÚ 
¦›¢x öPõÒQÕºPÒ? 

3. What do you meant by Mixed Economy? 

 P»¨¦ ö£õ¸Íõuõμ® £ØÔ }Âº AÔÁx GßÚ? 

4. What do you mean by Economic Planning? 

 ö£õ¸Íõuõμ vmhªhÀ £ØÔ }Âº AÔÁx GßÚ? 

5. Define Public Sector. 

 ö£õxzxøÓø¯ Áøμ¯ÖUPÄ®. 

Sub. Code 
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6. Define Disinvestment. 

 •u½møh Â»USuÀ Áøμ¯ÖUPÄ®. 

7. What is technological environment? 

 öuõÈÀ~m£ `ÇÀ GßÓõÀ GßÚ? 

8. Who is the current director general of WTO? 

 E»P ÁºzuP Aø©¨¤ß uØ÷£õøu¯ C¯US|º öáÚμÀ 
¯õº? 

9. What are the types of Industrial Finance? 

 öuõÈÀxøÓ {v°ß ÁøPPÒ ¯õøÁ? 

10. Expand "LPG" as per New Industrial Policy 1991. 

 ¦v¯ öuõÈÀxøÓ öPõÒøP 1991Cß £i ‘‘LPG’’ 
Â›ÁõUP®. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL the questions, choosing either (a) or (b). 

11. (a) Explain the importance of the business 
environment. 

  ÁoPa `Ç¼ß •UQ¯zxÁzøu ÂÍUPÄ®. 

Or 

 (b) What are the major areas of social responsibility of 
a business? 

  J¸ ÁoPzvß \‰P¨ ö£õÖ¨¤ß •UQ¯ £SvPÒ 
¯õøÁ? 

12. (a) How is culture related to business? 

  P»õa\õμ® ÁoPzxhß GÆÁõÖ öuõhº¦øh¯x? 

Or 

 (b) What are the types of Economic Systems? 

  ö£õ¸Íõuõμ Aø©¨¦PÎß ÁøPPÒ ¯õøÁ? 



D–6615 
    3

13. (a) Explain the significance of Economic Planning. 

  ö£õ¸Íõuõμz vmhªh¼ß •UQ¯zxÁzøu 
ÂÍUSP. 

Or 

 (b) What are the main objectives of Industrial Policy 
1991? 

  öuõÈÀöPõÒøP 1991Cß •UQ¯ ÷|õUP[PÒ 
¯õøÁ? 

14. (a) What are the differences between Privatization and 
Disinvestment? 

  uÛ¯õº©¯©õUP¾US® •u½møh Â»USÁuØS® 
EÒÍ ÷ÁÖ£õkPÒ ¯õøÁ? 

Or 

 (b) What are the factors that govern the Technological 
Environment? 

  öuõÈÀ~m£ `Çø» {ºÁQUS® PõμoPÒ ¯õøÁ? 

15. (a) What are the main features of Consumer Protection 
Act 1986? 

  ~Pº÷Áõº £õxPõ¨¦a \mh® 1986 Cß •UQ¯ 
A®\[PÒ ¯õøÁ?  

Or 

 (b) What the sources of Industrial Finance? 

  öuõÈÀxøÓ {v Buõμ[PÒ ¯õøÁ?  

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Briefly explain the various dimensions of business 
environment. 

 ÁoP `Ç¼ß £À÷ÁÖ £›©õn[PøÍ _¸UP©õP 
ÂÍUPÄ®. 
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17. What are the achievements and failures of Economic 
Planning in India? 

 C¢v¯õÂÀ ö£õ¸Íõuõμz vmhªh¼ß \õuøÚPÒ ©ØÖ® 
÷uõÀÂPÒ ¯õøÁ? 

18. Discuss in detail about the Industrial Policy in India at 
different periods. 

 £À÷ÁÖ Põ»Pmh[PÎÀ C¢v¯õÂÀ öuõÈÀöPõÒøP 
£ØÔ Â›ÁõP ÂÁõvUPÄ®. 

19. Discuss in detail about the consumer rights and its 
importance as per Consumer Protection Act, 1986. 

 ~Pº÷Áõº £õxPõ¨¦a \mh® 1986ß £i ~Pº÷Áõº 
E›ø©PÒ ©ØÖ® Auß •UQ¯zxÁ® £ØÔ Â›ÁõP 
ÂÁõvUPÄ®. 

20. What is Industrial Finance? What are the functions of 
Industrial Finance Corporation? 

 öuõÈÀxøÓ {v GßÓõÀ GßÚ? öuõÈÀxøÓ {v 
{ÖÁÚzvß ö\¯À£õkPÒ ¯õøÁ? 

 

––––––––––– 
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DISTANCE EDUCATION 

M.Com. DEGREE EXAMINATION, DECEMBER 2024. 

Second Semester 

MARKETING MANAGEMENT 

(CBCS 2018–2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

PART A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What is marketing? 

 \¢øu°¯À GßÓõÀ GßÚ? 

2. What is marketing environment? 

 \¢øu°¯À `ÇÀ GßÓõÀ GßÚ? 

3. Write a product mix management. 

 ö£õ¸Ò P»øÁ ÷©»õsø©ø¯ GÊxP. 

4. Define price mix. 

 Âø» P»øÁø¯ Áøμ¯Ö. 

5. Write the importance of compensation plan.  

 CÇ¨¥k vmh[PÎß •UQ¯zxÁzøu GÊxP. 

6. What are the internal aids of advertising? 

 Em¦Ó ÂÍ®£μ \ªøP GßÓõÀ GßÚ? 

Sub. Code 
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7. Why need the marketing research in an organization? 

 \¢øu°¯À B´Ä J¸ {ÖÁÚzvÀ Hß ÷uøÁ? 

8. What do you mean by cooperative marketing? 

 TmkÓÄ \¢øu°¯À £ØÔ } AÔÁx GßÚ? 

9. What is E-marketing? 

 ªß \¢øu°¯À GßÓõÀ GßÚ? 

10. Write the importance of CRM. 

 ÁõiUøP¯õÍº EÓÄ ÷©»õsø©°ß •UQ¯zxÁzøu 
GÊxP. 

PART B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) Explain the modern marketing concept. 

  |ÃÚ \¢øu°¯¼ß P¸¨ö£õ¸øÍ ÂÍUSP. 

Or 

 (b) State the various approaches to the study of 
marketing. 

  \¢øu°¯¼ß £À÷ÁÖ AqS•øÓPøÍ ÂÍUSP. 

12. (a) Write note on the external factors in marketing 
environment. 

  \¢øu°¯À `Ç¼À ¦ÓUPõμoPÒ £ØÔ J¸ SÔ¨¦ 
ÁøμP. 

Or 

 (b) Explain a product life cycle. 

  J¸ ö£õ¸Îß `ÇÀ Ámh® ÂÁ›. 
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13. (a) Why product failures more common in present 
days? Explain. 

  uØ\©¯® ö£õ¸ÒPÒ Hß AvP AÍÂÀ 
÷uõÀÂ¯øhQßÓÚ? ÂÁ›. 

Or 

 (b) What are the objectives of pricing? 

  Âø» {ºn¯zvß ÷|õUP[PÒ ¯õøÁ? 

14. (a) What is channel conflict? What its types. 

  Â{÷¯õP SÇ¨£® GßÓõÀ GßÚ? Auß ÁøPPÒ 
¯õøÁ? 

Or 

 (b) Distinguish between personal selling and sales 
promotion. 

  BÒ\õº ÂØ£øÚ ©ØÖ® ÂØ£øÚ ÷©®£õk 
Cμsøh²® ÷ÁÖ£kzxP. 

15. (a) Write the features of co-operative marketing. 

  TmkÓÄ \¢øu°¯À C¯À¦PøÍ GÊxP.  

Or 

 (b) Explain a business models in relation to  
e-marketing. 

  ªß \¢øu°¯¼ß ÁoP ©õv›ø¯ ÂÍUSP.  

PART C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the features of Industrial, consumer and service 
marketing. 

 öuõÈØö£õ¸mPÒ \¢øu°køP, ~Pº÷Áõº ö£õ¸mPÒ 
\¢øu°køP ©ØÖ® ÷\øÁ \¢øu°køP BQ¯ÁØÔß 
ußø©PøÍ ÂÍUSP. 
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17. Discuss in detail the consumer buying process. 

 ~Pº÷Áõº ö£õ¸mPøÍ Áõ[S® ö\¯À•øÓø¯ Â›ÁõP 
ÂÁõv. 

18. Explain about branding policies and strategies. 

 ÁoPU SÔ°hÀ öuõhº£õÚ öPõÒøPPÒ ©ØÖ® 
EzvPøÍ ÂÁ›. 

19. Explain the procedure for pricing the industrial goods. 

 öuõÈØö£õ¸mPøÍ Âø»°hÀ öuõhº£õÚ 
ÁÈ•øÓPøÍ ÂÍUSP. 

20. How the factors influencing the selection of 
advertisement media? 

 ÂÍ®£μ FhP[PøÍz ÷uº¢öukzuø» {ºn°US® 
PõμoPøÍ ÂÍUSP. 

 

––––––––––– 
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DISTANCE EDUCATION 

M.Com. DEGREE EXAMINATION, DECEMBER 2024. 

Second Semester 

RESEARCH METHODOLOGY 

(CBCS 2018–2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

PART A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What is research? 

 Bμõ´a] GßÓõÀ GßÚ? 

2. What are the characteristics of a good research design? 

 J¸ |À» Bμõ´a] ÁiÁø©¨¤ß £¯ßPÒ ¯õx? 

3. What is hypothesis? 

 P¸x÷PõÀ GßÓõÀ GßÚ? 

4. What are methods of primary data? 

 •ußø©¯õÚ uμÄ •øÓPÒ GßÓõÀ GßÚ? 

5. Write the case study method? 

 ÁÇUS B´Ä •øÓø¯ GÊxP. 

6. Write the two importance of sampling? 

 ©õv›°ß Cμsk ÷|õUP[PÒ GÊxP. 

Sub. Code 
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7. What are sources of secondary data? 

 Cμshõ® {ø» uμÄPÎß Buõμ[PÒ GßÓõÀ GßÚ? 

8. What is pilot study? 

 ø£»m B´Ä GßÓõÀ GßÚ? 

9. What is regression? 

 ¤ßÚøhÄ GßÓõÀ GßÚ? 

10. What is research ethics? 

 Gx J¸ |À» B´Ä GßÓõÀ GßÚ? 

PART B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) What are the importance of research? 

  Bμõ´a]°ß •UQ¯zxÁ® ¯õøÁ? 

Or 

 (b) Write the objectives of social science research. 

  \‰P AÔÂ¯À B´Âß ÷|õUPzøu GÊxP. 

12. (a) What is the importance of research design? 

  B´Ä ÁiÁø©¨ø£ •UQ¯zxÁ® ¯õøÁ? 

Or 

 (b) State descriptive research designs. 

  ÂÍUP Bμõ´a] ÁiÁø©¨ø£ ÂÍUSP. 
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13. (a) What are the classifications of data? 

  uμÄPÎß ÁøPPÒ GßÓõÀ GßÚ? 

Or 

 (b) Difference between samples Vs Census. 

  ©õv› ©ØÖ® PnUöPk¨¦ ÷ÁÖ£õkPÒ GßÚ? 

14. (a) Write types of Hypothesis? 

  P¸x÷PõÒPÎß ÁøPPøÍ GÊxP. 

Or 

 (b) Difference between dependent variable and 
independent variable. 

  \õº¦ ©õÔ ©ØÖ® \õº£ØÓ ©õÔ Cμsøh²® 
÷ÁÖ£kzxP. 

15. (a) What are the merits of ANOVA test? 

  ANOVA ÷\õuøÚ°ß ]Ó¨¤¯À¦PÒ ¯õøÁ?  

Or 

 (b) State essentials of research ethics in a research 
report. 

  B´÷Ámiß B´Ä ö|Ô•øÓPÎß AÁ]¯® 
ÂÍUSP.  

PART C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Discuss types of research. 

 B´ÄPÎß ÁøPPøÍ ÂÁõv. 

17. What are the steps involved in process of research? 

 Bμõ´a]°ß ö\¯À£õmiÀ EÒÍ £iPÒ GßÚ? 
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18. Explain types of sampling techniques. 

 ©õv›°ß ~m£[PøÍ ÂÁ›. 

19. Draw specimen of good report writing in a research. 

 J¸ Bμõ´a]°À |À» AÔUøP GÊx® ©õv›ø¯ 
Áøμ¯Ä®. 

20. Explain the various responsibilities of ethics in research. 

 £À÷ÁÖ B´Ä ö|Ô•øÓPÎß ö£õÖ¨¦PÒ ÂÍUSP. 

 

––––––––––– 



  

D–6618      

 
DISTANCE EDUCATION 

COMMON FOR M.Com./M.Com. (F & C) DEGREE 
EXAMINATION, DECEMBER 2024. 

Second Semester 

ADVANCED COST ACCOUNTING 

(CBCS 2018–2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. Define 'Cost'. 

 AhUPÂø» Áøμ¯Ö. 

2. What are "Elements of Cost"? 

 AhUPÂø»°À TÖPÒ ¯õøÁ? 

3. Explain Halsey Plan. 

 íõÀ] vmh® SÔzx GÊx. 

4. What is Profit Sharing System? 

 »õ£ £QºÄ •øÓ GßÓõÀ GßÚ? 

5. What is Absorption of overheads? 

 ÷©À ö\»ÄPÎÀ «m¦ •øÓ GßÓõÀ GßÚ? 

6. What do you mean by Machine hour Rate? 

 G¢vμ ©o ÷|μ Ãu® GßÓõÀ GßÚ? 

Sub. Code 
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7. Write a note on Retention Money. 

 uUPøÁ¨¦ £n® GßÓõÀ GßÚ? 

8. Write a note on cost plus contract. 

 ö\»Ä ©ØÖ® J¨£¢u® SÔzx ]Ö SÔ¨¦ ÁøμP. 

9. Define job costing. 

 £o PnUQ¯À Áøμ¯Ö. 

10. What is the role of estimating in job costing? 

 £oUPnUQÀ PnUQkÁvß £[S GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL the questions, choosing either (a) or (b). 

11. (a) A product is sold for Rs. 5,00,000 so as to show a 
profit of 33.33% on cost price. Find out the profit on 
sales in rupees and in %. 

  J¸ ö£õ¸Ò ¹. 5,00,000US ÂØP¨£kQÓx. CuÚõÀ 
Âø»°À 33.33% »õ£® QøhUS®. ÂØ£øÚ°ß 
»õ£zøu ¹£õ´ ©ØÖ® % CÀ PshÔ¯Ä®. 

Or 

 (b) Find out the economic order quantity and the 
number of order per year from the following 
information. Monthly consumption 3,000 units; cost 
per unit Rs. 54; Ordering cost Rs. 150 per order, 
inventory carrying cost 20% of the average 
inventory. 

  ¤ßÁ¸® uPÁÀPÎ¼¸¢x  ö£õ¸Íõuõμ Á›ø\°ß 
AÍÄ ©ØÖ® Á¸hzvØS Bºhº GsoUøPø¯U 
PshÔ¯Ä®. ©õuõ¢vμ ~PºÄ 3,000 A»SPÒ; J¸ 
³Ûm Âø» ¹. 54; J¸ Bºh›ß Âø» ¹. 150; 
\μUS Gkzxa ö\À¾® \μõ\› \μUSPÎÀ 20% 
ö\»ÁõS®. 
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12. (a) Calculate the earnings of worker's X and Y under  
(i) straight piece rate system and (ii) Taylor's 
differential piece rate system from the following 
details: 

  Standard time per unit = 12 minutes 

  Standard rate per hour = Rs. 60 

  Differentials to be used 80% and 120% 

  In a particular day of 8 hours, worker 'X' produced 
30 units and worker 'Y' produced 50 units. 

  ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x (i) ÷|μõÚ xsk ÂQu 

•øÓ ©ØÖ® (ii) öh´»›ß ÷ÁÖ£mh xsk ÂQu 

•øÓ°ß RÌ öuõÈ»õÎ°ß X ©ØÖ® Y Cß 
Á¸Áõø¯U PnUQkP :  

  J¸ ³ÛmkUPõÚ {ø»¯õÚ ÷|μ® = 12 {ªh[PÒ 

  J¸ ©o ÷|μzvØS {ø»¯õÚ Pmhn® = ¹. 60 

  £¯ß£kzu ÷Ási¯ ÷ÁÖ£õkPÒ 80% ©ØÖ® 120% 

  J¸ SÔ¨¤mh |õÎÀ 8 ©o÷|μzvÀ, öuõÈ»õÎ  

X 30 ³ÛmPøÍ²®, Y öuõÈ»õÎ 50 ³ÛmPøÍ²® 
EØ£zv ö\´uõº. 

Or 

 (b) Standard time per piece = 12 hours 

  Time worked X = 9 hours Y = 8 hours 

  Workers hourly rate = 0.50 calculate the earnings of 
X and Y under the rowan plan. 

  {ø»¯õÚ ÷|μ® = 12 ©o÷|μ® 

  ÷Áø» ÷|μ® X = 9 ©o÷|μ® Y = 8 ©o÷|μ® 

  öuõÈ»õÍºPÎß ©o÷|μ ÂQu® = 0.50 ÷μõÁß 

vmhzvß RÌ X ©ØÖ® Y Cß Á¸Áõø¯U 
PnUQkP. 
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13. (a) Ascertain the amount of under or over absorption of 
overhead from the following: Labour hour rate for 
January 2009: Rs. 5 per hour, Labour hours worked 
during the month: 20,000; overhead incurred in 
January 2009: 1,12,800. 

  ¤ßÁ¸ÁÚÁØÔÀ C¸¢x ÷©À{ø»°ß RÌ AÀ»x 
AvP©õP EÔg\¨£mh AÍøÁU PshÔ¯Ä® : 
áÚÁ› 2009UPõÚ öuõÈ»õÍº ©o÷|μ ÂQu®;  
J¸ ©o ÷|μzvØS ¹. 5, ©õuzvÀ ÷Áø» ö\´u 
÷Áø» ÷|μ® : 20,000; áÚÁ› 2009 CÀ HØ£mh 
÷©À{ø» : 1,12,800. 

Or 

 (b) Compute the amount of under or over absorption of 
overhead from the under mentioned details. 

  Machine hour rate for March 2010: Rs. 8 per hour 

  Machine hour worked in March 2010: 80,000 

  Overhead actually spent in March 2010:  
Rs. 6,00,000. 

  R÷Ç SÔ¨¤h¨£mkÒÍ ÂÁμ[PÎ¼¸¢x 
÷©À{ø»°ß RÌ AÀ»x AvP©õP EÔg\¨£mh 
AÍøÁU PnUQk[PÒ. 

  ©õºa 2010UPõÚ C¯¢vμ ©o÷|μ® : J¸ ©o 
÷|μzvØS ¹. 8  

  C¯¢vμ ÷|μ® ©õºa 2010CÀ ÷Áø» ö\´ux : 
80,000 

  Esø©°À ©õºa 2010À ö\»ÁÈUP¨£mh 
÷©À{ø» : ¹. 6,00,000. 

14. (a) The following are the expenses of Balaji & Co., in 
respect of a contract which commenced on  
1st January 2010. 

 Rs. 

Material purchased 50,000

Materials on hand 2,500

Direct wages 75,000

Plant issued 25,000

Direct expenses 40,000
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  The contract price was Rs. 7,50,000 and the same 
was duly received when the contract was completed 
in August 2010. Charge indirect expenses at 15% on 
wages. Provide Rs. 5,000 for depreciation on plant 
and prepare the contract account and the contractee 
Account. 

  áÚÁ› 1, 2010 AßÖ öuõh[P¨£mh J¨£¢u® 
öuõhº£õP £õ»õâ & ÷Põ.&Âß ö\»ÄPÒ ¤ßÁ¸©õÖ. 

 ¹. 

ö£õ¸Ò Áõ[P¨£mhx 50,000

øP°À EÒÍ 
ö£õ¸mPÒ 

2,500

÷|μi Fv¯® 75,000

Bø» öÁÎ°h¨£mhx 25,000

÷|μi ö\»ÄPÒ 40,000

  J¨£¢u Âø» ¹. 7,50,000 BP C¸¢ux. BPìm 
2010 CÀ J¨£¢u® •iÁøh¢u÷£õx Ax 
•øÓ¯õP¨ ö£Ó¨£mhx. Fv¯zvÀ 15% ©øÓ•P 
ö\»ÄPøÍ Á`¼UPÄ®. Bø»°ß ÷u´©õÚzvØPõP 
¹. 5,000 ÁÇ[PÄ® ©ØÖ® J¨£¢uU PnUS ©ØÖ® 
J¨£¢uuõμº PnUøP u¯õº ö\´¯Ä®.   

Or 

 (b) How much profit, if any, you would allow to be 
considered in the following case? 

 Rs. 

Contract cost 5,60,000

Contract value 10,00,000

Cash received 5,40,000

Uncertified work 60,000

  Depreciation made from bills by way of security 
deposit 10%. 
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  GÆÁÍÄ »õ£®, H÷uÝ® C¸¢uõÀ, ¤ßÁ¸® 
ÁÇUQÀ £›^¼UP AÝ©vUP»õ®. 

 ¹. 

J¨£¢u ö\»Ä 5,60,000

J¨£¢u ©v¨¦ 10,00,000

£n® Qøhzux 5,40,000

\õßÓÎUP¨£hõu ÷Áø» 60,000

  £õxPõ¨¦ øÁ¨¦zöuõøP ‰»® ¤ÀPÎÀ C¸¢x 
ö\´¯¨£k® ÷u´©õÚ® 10%. 

15. (a) The profit as per cost accounts was Rs. 1,50,000. 
Calculate the profit as per financial accounts on the 
basis of the following information: 

  (i) Work overheat wear under required in cost 
accounts by Rs. 6,200 

  (ii) Administration expenses were under recorded 
in financial accounts by Rs. 2,750. 

  (iii) Depreciation charges over recovered in cost 
accounts Rs. 1,900. 

  (iv) Interest received on investment Rs. 1,000. 

  ö\»Ä PnUSPÎß£i »õ£® ¹. 1,50,000. ¤ßÁ¸® 
uPÁÀPÎß Ai¨£øh°À {vU PnUSPÎß£i 
»õ£zøuU PnUQk[PÒ : 

  ö\»ÄU PnUSPÎÀ ÷uøÁ¨£k® ÷Áø» KÁº ïm 
EøhPÒ  ¹. 6,200 

  {ºÁõPa ö\»ÄPÒ {vU PnUSPÎÀ ¹. 2,750 

  ÷u´©õÚU Pmhn[PÒ «möhkUP¨£mh ¹. 1,900 

  •u½miÀ ö£Ó¨£mh Ámi ¹. 1,000.  

Or 
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 (b) Compute the profit shown by financial accounts 
from the details given below : 

  Costing profit Rs. 25,000 

  Losses and expenses shown in financial accounts 
alone : 

  Good will written off Rs. 5,000 

  Preliminary expenses return of Rs. 1,900 

  Dividend paid Rs. 6,000 

  Profit shown in financial accounts alone: Income 
from investments Rs. 12,000. 

  R÷Ç öPõkUP¨£mkÒÍ ÂÁμ[PÎ¼¸¢x {vU 
PnUSPÒ Põmk® »õ£zøuU PnUQk[PÒ : 

  ö\»Ä »õ£® ¹. 25,000 

  {vU PnUSPÎÀ ©mk® Põmh¨£k® CÇ¨¦PÒ 
©ØÖ® ö\»ÄPÒ : 

  Sm ÂÀ ¹. 5,000 

  Bμ®£ ö\»ÄPÒ v¸®£ ¹. 1,900 

  DÄzöuõøP ¹. 6,000 

  {vU PnUSPÎÀ ©mk÷© Põmh¨£k® »õ£® : 
•u½kPÎß Á¸©õÚ® ¹. 12,000.  

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. You are required to calculate reordering level, maximum 
level, minimum level and average stock level. 

 Two components A and B are used as follows; 
 Reordering Quantity : 
 A – 1,200 units ; 
 B – 1,000 units 
 Reordering Period : 
 A – 2 to 4 weeks 
 B – 3 to 6 weeks 
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 Normal usage 300 units per week each 

 Minimum usage 150 units per week each 

 Maximum usage 450 units per week each. 
 ©ÖÁ›ø\¨£kzuÀ {ø», AvP£m\ {ø» SøÓ¢u£m\ 

{ø» ©ØÖ® \μõ\› £[S {ø» BQ¯ÁØøÓ }[PÒ 
PnUQh ÷Ásk®. 

 A ©ØÖ® B BQ¯ Cμsk TÖPÒ ¤ßÁ¸©õÖ 
£¯ß£kzu¨£kQßÓÚ; ©ÖÁ›ø\¨£kzxuÀ AÍÄ : 

 A – 1,200 A»SPÒ ; 

 B – 1,000 A»SPÒ 

 ©ÖÁ›ø\¨£kzxuÀ Põ»® : 

 A – 2 •uÀ 4 Áõμ[PÒ 

 B – 3 •uÀ 6 Áõμ[PÒ 

 \õuõμn £¯ß£õk JÆöÁõ¸ Áõμ•® 300 ³ÛmPÒ 

 SøÓ¢u£m\ £¯ß£õk JÆöÁõ¸ Áõμ•® 150 ³ÛmPÒ 

 AvP£m\ £¯ß£õk JÆöÁõ¸ Áõμ•® 450 ³ÛmPÒ. 

17. You are required to calculate the following for each of the 
components.  

 (a) reordering level 
 (b) maximum level  
 (c) minimum level 
 (d) average stock level. 

 From the following particulars, calculate earning of a 
worker under : 

 Time rate system, Piece wage rate, Halsey plan and 
Rowan plan. 

 Wage rate – Rs. 2 per hour 
 Production per hour – 4 units 
 Dearness allowance – Re. 1 per hour 
 Standard time fixed – 80 hours 
 Actual time taken – 50 hours 
 Production – 250 units. 
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 JÆöÁõ¸ TÖPÐUS® ¤ßÁ¸ÁÚÁØøÓ }[PÒ PnUQh 
÷Ásk®. 

 (A) ©ÖÁ›ø\¨£kzuÀ {ø» 

 (B) AvP£m\ {ø» 

 (C) SøÓ¢u£m\ {ø» 

 (D) \μõ\› £[S {ø» 

 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x, J¸ öuõÈ»õÎ°ß 
Á¸©õÚzøuU PnUQk[PÒ. 

 ÷|μ ÂQu Aø©¨¦, xsk Fv¯ ÂQu®, íÀ] vmh® 
©ØÖ® ÷μõÁß vmh®. 

 Fv¯ ÂQu® – J¸ ©o ÷|μzvØS ¹. 2  

 J¸ ©o ÷|μzvØS EØ£zv – 4 A»SPÒ 

 APÂø»¨£i – J¸ ©o ÷|μzvØS 1 ¹£õ´ 

 {ø»¯õÚ ÷|μ® – 80 ©o÷|μ® 

 GkUP¨£mh Esø©¯õÚ ÷|μ® – 50 ©o÷|μ® 

 EØ£zv – 250 A»SPÒ. 

18. The following details are available for the month of May 
2010 relating two services departments A and B and 
production departments R and S. 

  Apportionment Basis

 Amount Rs. B R S 

A 20,000 25% 40% 35% 

B 15,000 – 40% 60% 

R 30,000 – – – 

S 32,000 – – – 

 Prepare a summary of overhead distribution under the 
step ladder method. 
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 Cμsk ÷\øÁPÒ xøÓPÒ A ©ØÖ® B ©ØÖ® EØ£zvz 

xøÓPÒ R ©ØÖ® S öuõhº£õÚ ¤ßÁ¸® ÂÁμ[PÒ  

÷© 2010 ©õuzvÀ QøhUQßÓÚ. 

  £QºÄ Ai¨£øh

 öuõøP ¹. B R S 

A 20,000 25% 40% 35%

B 15,000 – 40% 60%

R 30,000 – – – 

S 32,000 – – – 

  £i Ho •øÓ°ß RÌ ÷©À{ø» Â{÷¯õPzvß 
_¸UPzøu u¯õº ö\´¯Ä®. 

19. The following expenses were incurred on an unfinished 

contract during the accounting year 2010 : 

 Rs. 

Materials 90,000

Wages 80,000

Other expenses 5,000

 Rs. 2,00,000 was received from the contractee, being 80% 

of the work certified. Work done but not certified was  

Rs. 5,000. Determine the profit to be credited to profit 

and Loss Account in all the three alternatives given 

below: 

 (a) Contract price Rs. 3,00,000 

 (b) Contract price Rs. 5,50,000 

 (c) Contract price Rs. 12,00,000. 
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 PnUQ¯À BsiÀ 2010 CÀ •iUP¨£hõu J¨£¢uzvÀ 
¤ßÁ¸® ö\»ÄPÒ HØ£mhÚ : 

 ¹. 

ö£õ¸mPÒ 90,000

T¼ 80,000

©ØÓ ö\»ÄPÒ 5,000

 J¨£¢uuõμ›hª¸¢x ¹. 2,00,000 ö£Ó¨£mhx. 80% 
÷Áø» \õßÓÎUP¨£mhx. ÷Áø» ö\´x \õßÔuÌ 
ö£Óõ©À ¹. 5,000. R÷Ç öPõkUP¨£mkÒÍ ‰ßÖ 
©õØÖPÎ¾® »õ£® ©ØÖ® CÇ¨¦U PnUQÀ ÁμÄ 
øÁUP¨£h ÷Ási¯ »õ£zøuz wº©õÛUPÄ®. 

 (A) J¨£¢u Âø» ¹. 3,00,000 

 (B) J¨£¢u Âø» ¹. 5,50,000 

 (C) J¨£¢u Âø» ¹. 12,00,000. 

20. Prepare a statement of reconciliation from the following : 

 Rs. 

Net loss as per cost accounts 34,500

Net loss as per financial accounts 40,950

Works overhead under recovered in costing 6,240

Administrative overheads under recovered in excess 3,400

Depreciation record in costing 11,200

Depreciation charged in financial accounts 12,500

Interest on investment not included in costing 6,000

Goodwill written off 5,000

Provision for doubtful debts in financial account 1,260

Stores Adjustment credit in financial accounts 950

Loss of stock charged in financial accounts 3,000
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 ¤ßÁ¸ÁÚÁØÔ¼¸¢x \©μ\ AÔUøPø¯z u¯õ›UPÄ®. 

 ¹. 

ö\»Ä PnUSPÎß£i {Pμ CÇ¨¦ 34,500

{vU PnUSPÎß£i {Pμ CÇ¨¦ 40,950

ö\»ÂÀ «möhkUP¨£mh RÌ ÷©À{ø» ÷Áø»PÒ 6,240

{ºÁõP ÷©Øö\»ÄPÒ AvP©õP «möhkUP¨£mhÚ 3,400

ö\»ÂÀ ÷u´©õÚ £vÄ 11,200

{vU PnUSPÎÀ ÷u´©õÚ® Á`¼UP¨£kQÓx 12,500

•u½miß «uõÚ Ámi ö\»ÂÀ ÷\ºUP¨£hÂÀø» 6,000

|Àö»sn® GÊu¨£mhx 5,000

{vU PnUQÀ \¢÷uPzvØS›¯ PhßPÐUPõÚ JxURk 1,260

{v PnUSPÎÀ \›ö\´uÀ Qöμim ì÷hõºì 950

{vU PnUSPÎÀ Á`¼UP¨£k® £[S CÇ¨¦ 3,000

 

––––––––––– 
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PART A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What is primary market? 

 •ußø© £[S \¢øu GßÓõÀ GßÚ? 

2. What is capital market? 

 ‰»uÚ £[S \¢øu GßÓõÀ GßÚ? 

3. Define secondary market. 

 Cμshõ® {ø» £[S \¢øu Áøμ¯Ö. 

4. List the innovative financial instruments. 

 ¦xø©¯õÚ {v £[S P¸ÂPøÍ Á›ø\£kzxP. 

5. What do you mean by IPO? 

 IPO øÁ } AÔÁx ¯õx? 

6. Define Leasing. 

 SzuøP Áøμ¯Ö. 
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7. What is a mutual fund? 

 £μì£μ {v GßÓõÀ GßÚ? 

8. Define merger. 

 JßÔønzuÀ Áøμ¯Ö. 

9. Write the objectives of SEBI. 

 SEBI °ß ÷|õUP[PÒ GÊxP. 

10. What is finance company? 

 {v {ÖÁÚ® GßÓõÀ GßÚ? 

PART B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) Write a financial system in India. 

  C¢v¯ {v°¯À \õº¢u •øÓø¯ GÊxP. 

Or 

 (b) What is the need for financial innovation in a 
company? 

  J¸ {ÖÁÚzvÀ ¦xø©¯õÚ {v°¯À ÷uøÁ 
GßÓõÀ GßÚ? 

12. (a) Difference between money market and capital 
market. 

  {v ©ØÖ® ‰»uÚ \¢øu°ß ÷ÁÖ£õkPÒ GøÁ? 

Or 

 (b) State the global integration of financial market. 

  E»PÍõÂ¯ {v \¢øu°ß J¸[Qøn¨ø£ ÂÁ›. 
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13. (a) Explain the functions of SEBI. 

  SEBI °ß £oPøÍ ÂÍUSP. 

Or 

 (b) Write the functions of hire purchase financing. 

  ÁõhøP öPõÒ•uÀ {v°ß £oPøÍ GÊxP. 

14. (a) What are the steps involved in financing? 

  {v¯Î¨£vÀ EÒÍ £i{ø»PÒ ¯õøÁ? 

Or 

 (b) Who is a portfolio manager? Write the role of 
manager. 

  ÷£õºm÷£õ¼÷¯õ ÷©»õÍº ¯õº? ÷©»õÍ›ß £[øP 
GÊxP. 

15. (a) Write the different types of export finance. 

  HØÖ©v {v°ß ÁøPPøÍ GÊxP. 

Or 

 (b) Write the need for export financing in India. 

  HØÖ©v {v°ß ÷uøÁø¯ GÊxP. 

PART C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the stock market functions in India. 

 C¢v¯ £[S \¢øu°ß £oPøÍ ÂÍUSP. 

17. Discuss the strengths and weaknesses of financial 
services and market environment. 

 {v ÷\øÁPÒ ©ØÖ® \¢øu `ÇÀPÎß £»® ©ØÖ® 
£»ÃÚ[PøÍ ÂÁõv. 
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18. Write notes on : 

 (a) IDBI 

 (b) IFCI 

 (c) LIC 

 (d) GIC 

 (e) UTI. 

 ]Ö SÔ¨¦ GÊxP : 

 (A) IDBI 

 (B) IFCI 

 (C) LIC 

 (D) GIC 

 (E) UTI. 

19. Explain the functions of commercial banking. 

 ÁoP Á[QPÎß £oPøÍ ÂÍUSP. 

20. Justify performance of Non-Banking financial companies 
in India. 

 C¢v¯õÂÀ Á[Q°¯À {v \õμõu {ÖÁÚzvß 
ö\¯À£õkPÒ {¯õ¯¨£kzxP. 

 

––––––––––– 
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SECTION A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. Define Risk. 

 Chº Áøμ¯ÖUPÄ®. 

2. Expand OTCEI. 

 OTCEI I Â›ÁõUSP. 

3. What do you mean by Forward Future? 

 •ß÷|õUQ¯ GvºPõ»® £ØÔ }Âº AÔÁx GßÚ? 

4. Define Return Analysis. 

 Á¸Áõ´ £S¨£õ´øÁ Áøμ¯ÖUPÄ®. 

5. What is meant by Fundamental Analysis? 

 Ai¨£øh £S¨£õ´Ä £ØÔ AÔÁx GßÚ? 

6. What do you mean by Portfolio Management? 

 öuõS¨¦ ÷©»õsø© £ØÔ }Âº AÔÁx GßÚ? 

Sub. Code 
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7. What is DEMAT account? 

 DEMAT PnUS GßÓõÀ GßÚ? 

8. What do you mean by Confidence Index? 

 |®¤UøP SÔ±k £ØÔ }Âº AÔÁx GßÚ? 

9. What is meant by efficient market hypothesis? 

 vÓø©¯õÚ \¢øu AÝ©õÚ® £ØÔ AÔÁx GßÚ? 

10. What is security market line? 

 ¤øn¯ \¢øu •ußø© GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL the questions, choosing either (a) or (b). 

11. (a) What are the objectives of investment? 

  •u½miß ÷|õUP[PÒ ¯õøÁ? 

Or 

 (b) What are the assumptions in CAPM? 

  CAPM °ß AÝ©õÚ[PÒ ¯õøÁ? 

12. (a) What are the difference between options and 
futures? 

  Â¸¨£[PÐUS® GvºPõ»zvØS® Cøh÷¯²ÒÍ  
÷ÁÖ£õkPÒ ¯õøÁ? 

Or 

 (b) What are the strategic tools used in company 
analysis? 

  {ÖÁÚzvß £S¨£õ´ÂÀ £¯ß£kzu¨£k® 
‰÷»õ£õ¯ P¸ÂPÒ ¯õøÁ? 
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13. (a) What are the benefits of mutual funds? 

  £μì£μ {vPÎß |ßø©PÒ ¯õøÁ? 

Or 

 (b) Explain the three forms of Efficient Market 
Hypothesis. 

  vÓø©¯õÚ \¢øu AÝ©õÚzvß ‰ßÖ ÁiÁ[PøÍ 
ÂÍUSP. 

14. (a) Write down the functions of SEBI. 

  ö\¤°ß ö\¯À£õkPøÍ GÊxP. 

Or 

 (b) Write a short note on Dow Theory. 

  DOW v¯› £ØÔ J¸ ]Ö SÔ¨ø£ GÊuÄ®. 

15. (a) What are the differences between fundamental 
analysis and technical analysis? 

  Ai¨£øh £S¨£õ´Ä ©ØÖ® öuõÈÀ~m£ 
£S¨£õ´Ä Cøh÷¯ EÒÍ ÷ÁÖ£õkPÒ ¯õøÁ?  

Or 

 (b) What are the kinds of trading activities in stock 
market? Explain. 

  £[Sa \¢øu°À GßÚ ÁøP¯õÚ ÁºzuP 
|hÁiUøPPÒ |øhö£Ö®? ÂÍUSP.  

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. "Systematic and unsystematic risks are the most 
important risks in investment decisions", Comment and 
Explain. 

 ""•øÓ¯õÚ ©ØÖ® •øÓ¯ØÓ A£õ¯[PÒ •u½mk 
•iÄPÎÀ ªP •UQ¯©õÚ A£õ¯[PÒ'', P¸zx £ØÔ 
Â›ÁõP ÂÍUPÄ®. 
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17. What are the differences between capital market and 
money market? 

 ‰»uÚa \¢øuUS® £na \¢øuUS® Cøh÷¯²ÒÍ 
Âzv¯õ\[PÒ ¯õøÁ? 

18. Explain Markowitz Model of Portfolio Theory. 

 ÷£õºmL÷£õ¼÷¯õ ÷Põm£õmiß ©õº÷PõÂmì ©õv›ø¯ 
ÂÍUSP. 

19. Explain Random Walk Theory. 

 ÷μsh® ÁõU v¯›ø¯ £ØÔ Â›ÁõP ÂÍUPÄ®. 

20. Describe the various investment options available in 
India. 

 C¢v¯õÂÀ QøhUS® £À÷ÁÖ •u½mk \¢uº¨£[PøÍ 
ÂÁ›UPÄ®. 

 

––––––––––– 
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PART A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. What is Financial Management? 

 {v ÷©»õsø© GßÓõÀ GßÚ? 

2. What are financial instruments? 

 {vU P¸ÂPøÍ _¸UP©õP ÂÍUSP. 

3. State any two key financial markets. 

 H÷uÝ® Cμsk •UQ¯ {va \¢øuPøÍU SÔ¨¤hÄ®. 

4. What do you mean by fixed working capital? 

 {ø»¯õÚ |øh•øÓ ‰»uÚ® £ØÔ }Âº AÔÁx GßÚ? 

5. State the components of cost of capital. 

 ‰»uÚa ö\»Âß TÖPøÍU SÔ¨¤hÄ®. 

6. What is meant by capital structure? 

 ‰»uÚ Aø©¨¦ GßÓõÀ GßÚ? 
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7. Define the term leverage. 

 ö|®¦÷PõÀ P¸Â GßÓ ö\õÀø» Áøμ¯ÖUPÄ®. 

8. What is dividend policy? 

 DÄzöuõøP öPõÒøP GßÓõÀ GßÚ? 

9. State the meaning of International Financial 
Management. 

 \ºÁ÷u\ {v ÷©»õsø©°ß ö£õ¸øÍU SÔ¨¤hÄ®. 

10. What is capital budgeting? 

 ‰»uÚ vmhªhÀ GßÓõÀ GßÚ? 

PART B — (5 × 5 = 25 marks) 

Answer ALL the questions, choosing either (a) or (b). 

11. (a) Define the term finance function. 

  {v ö\¯À£õk GßÓ ö\õÀø» Áøμ¯ÖUPÄ®. 

Or 

 (b) State the merits of debentures. 

  Phß £zvμ[PÎß |ßø©PøÍU SÔ¨¤hÄ®. 

12. (a) Indicate the purposes served by short term finance. 

  SÖQ¯ Põ» {v ÁÇ[P¨£kÁuß ÷|õUP[PøÍU 
SÔ¨¤hÄ®. 

Or 

 (b) What is Trade Credit? State its merits. 

  ÁºzuP Phß GßÓõÀ GßÚ? Auß |ßø©PøÍ 
TÖP. 
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13. (a) State the advantages of having adequate working 
capital in a firm. 

  J¸ {ÖÁÚzvÀ ÷£õx©õÚ |øh•øÓ ‰»uÚ® 
C¸¨£uß |ßø©PøÍU SÔ¨¤hÄ®. 

Or 

 (b) List out the importance of cost of capital. 

  ‰»uÚa ö\»Âß •UQ¯zxÁzøu¨ £mi¯¼kP. 

14. (a) What are the factors should be considered in 
determining the capital structure of a company? 

  J¸ {Ö©zvß ‰»uÚ Pmhø©¨ø£ wº©õÛ¨£vÀ 
P¸zvÀ öPõÒÍ ÷Ási¯ PõμoPÒ ¯õøÁ? 

Or 

 (b) What is composite leverage? How it is measured? 

  Tmk ö|®¦÷PõÀ P¸Â GßÓõÀ GßÚ? Ax G¨£i 
AÍÂh¨£kQÓx? 

15. (a) State the merits and demerits of stable dividend 
policy. 

  {ø»¯õÚ DÄzöuõøPU öPõÒøP°ß |ßø©PÒ 
©ØÖ® wø©PøÍU SÔ¨¤hÄ®  

Or 

 (b) Explain the major sources of foreign currency 
finance. 

  öÁÎ|õmk |õn¯ {v°ß •UQ¯ Buõμ[PøÍ 
ÂÍUSP.  

PART C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the main functions of financial management. 

 {v ÷©»õsø©°ß •UQ¯ ö\¯À£õkPøÍ ÂÍUSP. 
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17. Elucidate the different sources of working capital. 

 |øh•øÓ ‰»uÚzvß £À÷ÁÖ Buõμ[PøÍ 
öuÎÄ£kzxP. 

18. What is cost of debt? Explain various methods of 
computing cost of debt capital. 

 PhÝUPõÚ ö\»Ä GßÓõÀ GßÚ? Phß ‰»uÚzvß 
ö\»øÁU PnUQkÁuØPõÚ £À÷ÁÖ •øÓPøÍ ÂÍUSP. 

19. Describe the arbitrage process under MM approach. 

 MM AqS•øÓ°ß RÌ |kÁº ö\¯À•øÓø¯ 
ÂÁ›UPÄ®. 

20. Explain the types of leverages. 

 ö|®¦÷PõÀ P¸Â ÁøPPøÍ ÂÍUSP. 

 

––––––––––– 
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PART A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. State any four operational functions of personnel 
management. 

 £o¯õÍº ÷©»õsø©°ß H÷uÝ® |õßS ö\¯À£õmk 
£oPøÍ TÖP. 

2. What is job description? 

 ÷Áø» ÂÁμ® GßÓõÀ GßÚ? 

3. What are the reasons of man power planning? 

 ©Ûu \Uv vmhªh¼ß Põμn[PÒ ¯õøÁ? 

4. Mention the types of promotion. 

 £uÂ E¯ºÂß ÁøPPøÍU SÔ¨¤kP. 

5. What do you mean by 360 degree appraisal method? 

 360 iQ› ©v¨¥mk •øÓ £ØÔ }Âº AÔÁx GßÚ? 
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6. What is autocratic leadership? 

 G÷ua\vPõμ uø»ø©zxÁ® GßÓõÀ GßÚ? 

7. Write the benefits of high morale. 

 E¯º ©Ú EÖv°ß £»ßPøÍ £ØÔ GÊxP. 

8. State the types of discipline. 

 JÊUPzvß ÁøPPøÍU TÖP. 

9. What is meant by industrial relations? 

 öuõÈÀxøÓ EÓÄPÒ £ØÔ AÔÁx GßÚ? 

10. Mention any four personnel records maintained in an 
organization. 

 J¸ {ÖÁÚzvÀ £μõ©›UP¨£k® H÷uÝ® |õßS 
£o¯õÍºPÒ £v÷ÁkPøÍU SÔ¨¤kP. 

PART B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) Bring out the features of personnel management. 

  £o¯õÍº ÷©»õsø©°ß C¯À¦PøÍ 
öÁÎUöPõnºP. 

Or 

 (b) What are the advantages of job analysis? 

  ÷Áø» £S¨£õ´Âß |ßø©PÒ ¯õøÁ? 

12. (a) Mention the principles of organization. 

  Aø©¨¤ß öPõÒøPPøÍU SÔ¨¤kP. 

Or 

 (b) Briefly explain the steps involved in selection 
process. 

  ÷uº¢öukzuÀ ö\¯À£õmiÀ EÒÍ £iPøÍ 
_¸UP©õP ÂÍUSP. 
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13. (a) State the objectives of performance appraisal. 

  ö\¯ÀvÓß ©v¨¥miß ÷|õUP[PøÍU TÖP. 

Or 

 (b) Describe briefly the importance of motivation. 

  FUSÂzu¼ß •UQ¯zxÁzøu _¸UP©õP ÂÁ›UP. 

14. (a) List out the qualities of a good leader. 

  J¸ |À» uø»Á›ß Sn[PøÍ £mi¯¼kP. 

Or 

 (b) What are the causes of absenteeism? Explain. 

  Á¸øP°ßø©UPõÚ Põμn[PÒ ¯õøÁ? ÂÍUSP. 

15. (a) Bring out the importance of collective bargaining. 

  Tmk ÷£μ® ÷£_Áuß •UQ¯zxÁzøu 
öÁÎUöPõnºP.  

Or 

 (b) State the different types of personnel records. 

  £À÷ÁÖ ÁøP¯õÚ £o¯õÍº £vÄPøÍU TÖP.  

PART C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the process of human resource planning. 

 ©ÛuÁÍ vmhªhÀ ö\¯À•øÓø¯ ÂÍUSP. 

17. Describe the various sources of recruitment. 

 Bm÷\º¨¦UPõÚ £À÷ÁÖ Buõμ[PøÍ £ØÔ ÂÁ›UP. 
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18. Enumerate the principles of wage and salary 
administration. 

 Fv¯® ©ØÖ® \®£Í {ºÁõPzvß öPõÒøPPøÍ 
PnUQkP. 

19. Discuss the factors that determining job satisfaction. 

 ÷Áø» v¸¨vø¯ {ºn°US® PõμoPøÍ¨ £ØÔ 
ÂÁõvUP. 

20. Elucidate the objectives and importance of personnel 
audit. 

 £o¯õÍº uoUøP°ß ÷|õUP[PÒ ©ØÖ® 
•UQ¯zxÁzøu GkzxøμUP. 

––––––––––– 
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SECTION A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. What do you understand by Surrender of Shares? 

 £[SPøÍ  J¨£øhzuÀ £ØÔ }Âº AÔÁx GßÚ? 

2. What is meant by Redeemable Preference Shares? 

 «mPUTi¯ •ßÝ›ø©¨ £[SPÒ £ØÔ AÔÁx GßÚ? 

3. What do you mean by Secret Reserve? 

 CμP]¯ Põ¨¦ £ØÔ }Âº AÔÁx GßÚ? 

4. List out any two factors affecting the goodwill. 

 |Øö£¯øμ £õvUS® H÷uÝ® Cμsk PõμoPøÍ TÖP. 

5. What is meant by Amalgamation? 

 J¸[Qøn¨¦ £ØÔ AÔÁx GßÚ? 

6. What is Capital reduction? 

 •u¼Ú SøÓ¨¦ GßÓõÀ GßÚ? 

Sub. Code 
31034/33534
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7. What is meant by Post-acquisition Profits? 

 Áõ[SÁuØS ¤ß Dmi¯ C»õ£® GßÓõÀ GßÚ? 

8. Who is Contributory? 

 £[PÎ¨£õÍº Gß£Áº ¯õº? 

9. What do you mean by Non-Performing Assets? 

 ö\¯À£õhØÓ ö\õzxUPÒ £ØÔ }Âº AÔÁx GßÚ? 

10. What is Responsibility Accounting? 

 ö£õÖ¨¦ PnUQ¯À GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL the questions, choosing either (a) or (b). 

11. (a) A company issued Rs. 1,00,000 shares of Rs. 10 

each. These shares were underwritten as follows :  

X – Rs. 30,000 shares, Y–Rs. 50,000 shares. The 

public applied for Rs. 70,000 shares. Determine the 

liability of X and Y. 

  J¸ {Ö©©õÚx ¹. 1,00,000 £[SPøÍ ¹. 10 Ãu® 

öÁÎ°mhx. C¨£[SPÍõÚx ¤ßÁ¸©õÖ J¨¦Öv 

AÎUP¨£mhx. 

  X-¹. 30,000 £[SPÒ Y-¹. 50,000 £[SPÒ  

  ö£õx©UPÎhª¸¢x  ¹. 70,000 £[SPÒ ö£Ó¨£mhÚ. 

X ©ØÖ® Y ß ö£õÖ¨¦PøÍ PnUQkP. 

Or 
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 (b) X Ltd. Issued 20,000 preference shares by  
Rs. 10 each at a premium of Rs. 3 per share, 
payable Rs. 2 per share on application, Rs. 5 per 
share on allotment including premium, Rs. 6 per 
share on first call and final call. Give the journal 
entries. 

  X {Ö©® 20,000 •ßÝ›ø© £[SPÒ JßÖ ¹. 10 
Ãu® EÒÍøu £[S JßÖUS ¹. 3 •øÚ©® ÷\ºzx 
öÁÎ°mhx. Âsn¨£zvß ÷£õx £[S JßÖUS 
¹. 2–®, •øÚ©® ÷\º¢u JxURk «x £[S JßÖUS 
¹. 5–®, •uÀ ©ØÖ® CÖv AøÇ¨¤ß «x £[S 
JßÖUS ¹. 6–® ö\¾zu ÷Ásk®. •uØSÔ¨÷£mk 
£vÄPøÍz u¸P. 

12. (a) From the following particulars, prepare a statement 
of profit and loss for the year ended 31.12.2021. 

Particulars Rs. 

Sales 3,00,000

Purchases 1,95,000

Salaries 15,000

Selling expenses 3,000

Depreciation 1,500

Directors remuneration 1,750

Debenture Interest 1,090

Rent, Rate and Taxes 5,500

Advertisement 500

Audit Fees 1,500
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  ¤ßÁ¸® uPÁÀPÎ¼¸¢x 31.12.2021À 
•iÁøh¯UTi¯ C»õ£|mh PnUQß AÔUøPø¯ 
u¯õº ö\´P. 

Â£μ[PÒ  ¹. 

ÂØ£øÚ 3,00,000

öPõÒ•uÀ 1,95,000

\®£Í® 15,000

ÂØ£øÚ ö\»ÂÚ[PÒ 3,000

÷u´©õÚ® 1,500

C¯US|º Fv¯® 1,750

PhÜmk¨£zvμ Ámi 1,090

ÁõhøP, Ãu® ©ØÖ® Á› 5,500

ÂÍ®£μ® 500

uoUøP¯õÍº Pmhn® 1,500

Or 

 (b) Describe the various factors affecting goodwill. 

  |Øö£¯øμ £õvUS® £À÷ÁÖ PõμoPøÍ ÂÍUSP. 

13. (a) Goodwill Co Ltd. took over the assets Rs. 1,75,000 
and Liabilities of Rs. 15,000 of Raj and Co. for the 
purchase consideration of Rs. 1,65,000 Goodwill Co. 
Ltd. paid the purchase consideration by issuing 
debenture of Rs. 100 each at a premium of 10%. 
Give Journal Entries. 

  SmÂÀ {Ö©® Cμõä {ÖÁÚzvhª¸¢x 
ö\õzxUPÍõP ¹. 1,75,000–®, ö£õÖ¨¦PÍõP  
¹. 15,000–® GkzxU öPõshx. Cuß öPõÒ•uÀ 
©Ö£¯ß ¹. 1,65,000–® BS®. SmÂÀ {Ö©®, 
Cμõä {ÖÁÚzvØS JßÖ ¹. 100 Ãu® 10% 
•øÚ©zvÀ PhÜmk¨ £zvμzøu öPõÒ•uÀ 
©Ö£¯ÚõP ö\¾zv¯x. ÷uøÁ¯õÚ •uØSÔ¨÷£mk 
£vÄPøÍ u¸P. 

Or 
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 (b) Distinguish between Internal reconstruction and 
External reconstruction. 

  EÒ ©ÖAø©Ä ©ØÖ® öÁÎ ©ÖAø©øÁ 
÷ÁÖ£kzxP. 

14. (a) Balance sheet as on 31.03.2016 was as follows: 
Liabilities P  Q  Assets P Q 

 Rs.  Rs.   Rs. Rs. 

Share capital 24,000  10,000  Sundry assets 42,000 20,000

Reserve 10,000  2,000  10,000 shares 

Profit and       in Q Ltd. 13,000 –

 loss account 4,000  2,000   

Sundry creditors 17,000  6,000   

 55,000  20,000   55,000 20,000

  Shares were acquired by P Ltd. on 30th September 
2015 Q Ltd. transferred Rs. 1,000 from profits to 
reserve on 31.03.2016 Prepare consolidated Balance 
sheet. 

  31.03.2016 |õøÍ¯ C¸¨¦{ø»U SÔ¨¦ 
¤ßÁ¸©õÖ : 

ö£õÖ¨¦PÒ  P  Q  ö\õzxUPÒ P Q 
 ¹.  ¹.   ¹. ¹. 

£[S •uÀ 24,000  10,000  £ÀÁøP ö\õzxUPÒ 42,000 20,000
Põ¨¦ 10,000  2,000  Q {Ö©zvÀ 

C»õ£ |mh PnUS 4,000  2,000  5,000 £[SPÒ 13,000 –
£ÀÁøP       
PhÜ¢÷uõºPÒ 17,000  6,000   

 55,000  20,000   55,000 20,000

  ö\¨h®£º 30, 2015À P ¼m £[SPøÍ Áõ[Q¯x.  
Q {Ö©® C»õ£zv¼¸¢x ¹. 1,000 31.03.2016 
AßÖ Põ¨¦ PnUQØS ©õØÓ¨£mhx. J¸[Qøn¢u 
C¸¨¦{ø»U SÔ¨ø£z u¯õ›UPÄ®. 

Or 
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 (b) Draw a specimen form of Liquidators final 
Statement of account. 

  Pø»¨£õÍ›ß CÖv PnUS ©õv› £iÁzøu ÁøμP. 

15. (a) From the following prepare the Fire revenue 
account for 2015-2016. 

 Rs. 

Claims Paid 35,650

Premium received 80,000

Reinsurance premiums 8,000

Commission 12,000

Expenses of Management 18,000

Provision against unexpired risk (01.04.2015) 32,000

Claims unpaid on 01.04.2015 2,600

Claims unpaid on 31.03.2016 3,200

  RÌUPshÁØÔ¼¸¢x w Á¸Áõ´U PnUøP  
2015–2016US u¯õ›UPÄ®. 

 ¹. 

ö\¾zv¯ ÷Põ›UøPPÒ  35,650

ö£ØÓ •øÚ©® 80,000

©ÖPõ¨¥mk •øÚ©® 8,000

PÈÄ 12,000

÷©»õsø©a ö\»ÄPÒ 18,000

öPk •i¯õu ChºPõÚ JxUS (01.04.2015) 32,000

01.04.2015 AßÖ ö\¾zu¨£hõ ÷Põ›UøPPÒ 2,600

31.03.2016 AßÖ ö\¾zu¨£hõ ÷\õ›UøPPÒ 3,200

Or 

 (b) What is IFRS? State its advantages. 

  IFRS GßÓõÀ GßÚ? AuÝøh¯ |ßø©PøÍ TÖP.  
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SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. A Company issued for public subscription 40,000 equity 

shares of Rs. 10 each at a premium of Rs. 2 per share 

payable as under: On application Rs. 2 per share; On 

allotment Rs. 5 per share (including premium); On first 

call Rs. 2 per share; On second call Rs. 3 per share. 

 Applications were received for 60,000 shares. Allotment 

was made pro-rata to the applicants for 48,000 shares, 

the remaining applications being refused. Money 

overpaid on application was utilized towards sums due to 

allotment. 

 Mr. Raja to whom 1,600 shares were allotted failed to pay 

the allotment money and first and second call moneys 

and Mr. Hussain to whom 2,000 shares were allotted 

failed to pay the two calls. These shares were 

subsequently forfeited after the second call was made. All 

the forfeited shares were sold to Mr. Babu as fully paid 

up at Rs. 8 per share. Show the Journal entries to record 

the above transactions. 

 J¸ {Ö©® 40,000 \õuõμn £[SPøÍ £[S JßÖ ¹. 10 
Ãu®, ¹. 2 •øÚ©zvÀ öÁÎ°mhx. Âsn¨£zxhß 

¹. 2®, JxURmiß £i ¹. 5® (•øÚ©® EÒ£h), •uÀ 
AøÇ¨¦hß ¹. 2–®, Cμshõ® AøÇ¨¦hß ¹. 3–® 
ö£ÖÁuõP EÒÍx. 60,000 Âsn¨£[PÒ Á¢uvÀ 
48,000 Âsn¨£uõμºPÐUS ÂQuõa\õμ •øÓ¨£i²® 

HøÚ¯ Âsn¨£[PÒ ©ÖUP¨£mhÚ. Âsn¨£zxhß 
ö£Ó¨£mh AvP¨£i¯õÚ öuõøP°øÚ JxURmiÀ \› 
ö\´x öPõÒÁuõP wº©õÛUP¨£mhx. 



D–6623 
    8

 v¸. μõáõ Gß£Á¸US 1600 £[SPÒ JxURk ö\´uvÀ 
JxURk öuõøPø¯²®, •uÀ ©ØÖ® CμshõÁx AøÇ¨¦ 
öuõøPø¯²® ö\¾zu uÁÔÂmhõº. v¸. E÷\ß 
Gß£Á¸US 2,000 £[SPÒ JxUP¨£mhvÀ AÁº  
Cμsk AøÇ¨¦PøÍ²® ö\¾zu uÁÔÂmhõº. 
CøÁPÒ AøÚzx® CμshõÁx AøÇ¨¦ •i¢u  
¤ßÚº JÖ¨¤Ç¨¦ ö\´¯¨£mhx. AøÁPÒ  
v¸. £õ¦ Gß£Á¸US ¹. 8 Ãu® ©Ö©v¨¥miÀ ÂØ£øÚ 
ö\´¯¨£mhx. ÷©ØTÔ¯ |hÁiUøPPÐUS 
•uØSÔ¨÷£mk £vÄPøÍ u¸P. 

17. Authorised capital of Z Ltd is Rs. 5,00,000 (50,000 shares 
of Rs. 10 each) on 31.12.2006. 25,000 shares were fully 
called up. On 31.12.2006, the following balances taken 
from the ledger of the company. 

 Rs. 

Opening stock 50,000

Sales 4,25,000

Purchases 3,00,000

Wages 70,000

Discount allowed 4,200

Discount received 3,150

Insurance (Paid upto 31.03.2007) 6,720

Salaries 18,500

Rent 6,000

General expenses 8,950

Printing and stationery 2,400

Advertisement 3,800

Bonus 10,500
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 Rs. 

Sundry debtors 38,700

Sundry creditors 35,200

Plant and machinery 80,500

Furniture 17,100

Cash at bank 1,34,700

Reserve 25,000

Loan from M.D 15,700

Bad debts 3,200

Calls in arrears 5,000

P and L a/c 6,220

 Additional information : 

 (a) Closing stock Rs. 91,500 

 (b) Depreciation on plant and machinery, furniture @ 

15% and 10% respectively. 

 (c) Wages, salaries and rent outstanding amounts  

Rs. 5,200; Rs. 1,200 and Rs. 600 respectively. 

 (d) Dividend @ 5% on paid up share capital is to be 

provided. 

  Prepare final accounts of the company. 

 Z ¼ªöhm A[RP›UP¨£mh ‰»uÚ® ¹. 5,00,000–zøu 

50,000 \õuõμn £[SPÍõUQ ¹. 10 Ãu® öÁÎ°mhx. 
31.12.2006–À 25,000 £[SPÒ •ÊÁx® 

AøÇUP¨£mhx. 31.12.2006–À {Ö© ÷£÷μkPÎÀ C¸¢x 
GkUP¨£mh C¸¨¦PÒ ¤ßÁ¸©õÖ : 
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 ¹. 

öuõhUPa \μUQ¸¨¦ 50,000

ÂØ£øÚ 4,25,000

öPõÒ•uÀ 3,00,000

T¼ 70,000

uÒÐ£i AÝ©vzux 4,200

uÒÐ£i ö£ØÓx 3,150

Põ¨¥k (31.3.2007 Áøμ ö\¾zv¯x) 6,720

\®£Í® 18,500

ÁõhøP 6,000

ö£õx ö\»ÄPÒ 8,950

Aa_ ©ØÖ® GÊxö£õ¸Ò 2,400

ÂÍ®£μ® 3,800

FUP Fv¯® 10,500

£Ø£» PhÚõÎPÒ 38,700

£Ø£» PhÜ¢÷uõºPÒ 35,200

uÍÁõh® ©ØÖ® C¯¢vμ® 80,500

©øÚzxøn ö£õ¸ÒPÒ 17,100

öμõUP® ©ØÖ® Á[Q 1,34,700

Põ¨¦ 25,000

÷©»õsø© C¯US|›h® C¸¢x ö£ØÓ Phß 15,700

ÁμõUPhß 3,200

AøÇ¨¦ {¾øÁ 5,000

C»õ£|mhU P/S 6,220
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 TkuÀ uPÁÀPÒ : 

 (A) CÖv \μUQ¸¨¦ ¹. 91,500 

 (B) ÷u´©õÚ® JxUSP : uÍÁõh® ©ØÖ® C¯¢vμ® 
15%; ©øÚxøn¨ ö£õ¸ÒPÒ 10%. 

 (C) öPõkUP¨£h ÷Ási¯ ö£õÖ¨¦UPÒ : T¼  
¹. 5,200; \®£Í® ¹. 1,200; ÁõhøP ¹. 600 

 (D) ö\¾zu¨£h ‰»uÚzvÀ 5% £[Põuõ¯® JxUSP. 

  ÷©ØPsh Â£μ[PøÍU öPõsk {Ö©zvß CÖv 
PnUøP u¯õ›UPÄ®. 

18. X Ltd. and Y Ltd. are two companies carrying on business 
in the same line of activity. Their Balance Sheets as on 
31.12.2010 are given below. 

Liabilities X Ltd. Y Ltd.  Assets X Ltd. Y Ltd. 

 Rs. Rs.   Rs. Rs. 

Equity shares (Rs. 10) 3,00,000 1,00,000  L and B 50,000 –

General reserve 2,00,000 1,00,000  P and M 3,50,000 1,50,000

Secured loan 3,00,000 50,000  Investments 50,000 –

Current liabilities 3,00,000 2,00,000  Stock 4,50,000 2,00,000

   Debtors 1,50,000 50,000

   Cash at bank 50,000 50,000

 11,00,000 4,50,000   11,00,000 4,50,000

 The two companies decide to amalgamate in the nature of 
purchase into XY Ltd. The following further information 
is given : 

 (a) X Ltd. holds 4000 shares in Y Ltd @ Rs. 12.50 each. 

 (b) All assets and liabilities of the two companies 
except investments are taken over by XY Ltd. 
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 (c) Each share in Y Ltd. is valued @ Rs. 25 for the 
purpose of the amalgamation. 

 (d) Shareholders in X Ltd. and Y Ltd. are paid off by 
issuing to them sufficient number of equity shares 
of Rs. 10 each in XY Ltd. as fully paid up at par 

 (e) Each share in X Ltd. is valued @ Rs. 15 for the 
purpose of the amalgamation. 

  Show Journal entries to close the books of both the 
companies. 

 X ©ØÖ® Y Cμsk {Ö©[PÐ® J÷μ Âu©õÚ Â¯õ£õμ® 
ö\´QßÓÚ. AÁØÔß 31.12.2010–À C¸¨¦{ø»U SÔ¨¦ 
uμ¨£mkÒÍx. 

ö£õÖ¨¦PÒ X ¼m  Y ¼m  ö\õzxPÒ X ¼m Y ¼m 

 ¹.  ¹.   ¹. ¹. 

\© E›ø© £[S     {»® ©ØÖ® Pmih® 50,000 –

(¹. 10 Ãu®) 3,00,000  1,00,000  ö£õÔ ©ØÖ®  

ö£õx Põ¨¦ 2,00,000  1,00,000  C¯¢vμ® 3,50,000 1,50,000

Ah©õÚ Phß 3,00,000  50,000  •u½kPÒ 50,000 –

|h¨¦      \μUQ¸¨¦ 4,50,000 2,00,000

ö£õÖ¨¦PÒ 3,00,000  2,00,000  PhÚõÎPÒ 1,50,000 50,000

     Á[Q C¸¨¦ 50,000 50,000

 11,00,000  4,50,000   11,00,000 4,50,000

 XY {Ö© ö£¯¸hß Cμsk {Ö©[PÐ® 
J¸[QønUQßÓÚ. RÌPõq® ö\´v uμ¨£mkÒÍx. 

 (A) X ¼m, Y ¼m&À 4,000 £[SPÒ ¹. 12.50 Ãu® 
øÁzxÒÍÚ. 

 (B) •u½kPÒ uÂμ AøÚzx ö\õzx ©ØÖ® 

ö£õÖ¨¦PøÍ XY {Ö©® GkzxU öPõÒQÓx. 
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 (C) J¸[Qøn¨¦US Y {Ö©zvß JÆöÁõ¸ £[S®  
¹. 25 Ãu® ©v¨¥k ö\´¯¨£mhÚ. 

 (D) XY {Ö©zvß ¹. 10 ©v¨¦ öPõsh •ÊÁx® 

ö\¾zu¨£mh £[SPÒ X ©ØÖ® Y {Ö© 
£[Suõμ¸US ÷£õx©õÚ AÍÄ ÁÇ[P¨£mhÚ. 

 (E) J¸[Qøn¨¦US X {Ö©zvß JÆöÁõ¸ £[S®  
¹. 15 Ãu® ©v¨¥k ö\´¯¨£mhÚ. 

  Cμsk {Ö© PnUøP •iUP •uØSÔ¨÷£mk 
£vÄPøÍ PõmkP. 

19. From the balance sheet given below prepare a 
Consolidated Balance Sheet of A Ltd. and its subsidiary 
company B Ltd. 

Balance Sheets as on 31st March, 2016 
Liabilities A Ltd.  B Ltd.  Assets A Ltd. B Ltd. 

 Rs.  Rs.   Rs. Rs. 

Share capital :     Land and building 6,40,000 2,00,000

Shares of      Machinery 12,60,000 3,40,000

Rs. 10 each 25,00,000  6,00,000  Furniture 1,40,000 60,000

General reserve 3,60,000  1,20,000  40,000 shares  

Profit and loss a/c 2,40,000  1,80,000  in B Ltd. 5,00,000 –

Trade creditors 3,50,000  1,00,000  Stock in hand 4,10,000 2,50,000

     Debtors 3,80,000 1,00,000

     Bank balance 1,20,000 50,000

 34,50,000  10,00,000   34,50,000 10,00,000

 At the date of acquisition of A Ltd of its holding of 40,000 
shares in B Ltd, the latter company had undistributed 
profits and reserves amounting to Rs. 1,00,000, none of 
which has been distributed since then. 
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 ¤ßÁ¸® C¸¨¦{ø» SÔ¨¤¼¸¢x A {Ö©® ©ØÖ® 

AuÝøh¯ xøn P®ö£Û°ß B {Ö©zvß 
J¸[Qøn¢u C¸¨¦{ø» SÔ¨ø£ u¯õº ö\´P. 

31.03.2016 AßøÓ¯ C¸¨¦{ø»SÔ¨¦ 
ö£õÖ¨¦PÒ A {Ö©®  B {Ö©®  ö\õzxPÒ A {Ö©® B {Ö©®

 ¹.  ¹.   ¹. ¹. 

£[S •uÀ :     {»® ©ØÖ® Pmih® 6,40,000 2,00,000

£[S JßÖ      C¯¢vμ[PÒ 12,60,000 3,40,000

¹. 10 Ãu® 25,00,000  6,00,000  AøÓP»ß 1,40,000 60,000

ö£õx Põ¨¦ 3,60,000  1,20,000  40,000 £[SPÒ  

C»õ£ |mh      (B {Ö©zvÀ) 5,00,000 –

PnUS 2,40,000  1,80,000  \μUQ¸¨¦ 4,10,000 2,50,000

ÁoP      PhÚõÎPÒ 3,80,000 1,00,000

PhÜ¢÷uõºPÒ 3,50,000  1,00,000  Á[Q°¸¨¦ 1,20,000 50,000

 34,50,000  10,00,000   34,50,000 10,00,000

 A {Ö©® 40,000 £[SPøÍ B {Ö©zvÀ Áõ[Q¯ 

÷uv¯ßÖ B {Ö©zvÀ £Qº¢uÎUP¨£hõu C»õ£® ©ØÖ® 
Põ¨¦ ¹. 1,00,000 C¸¢ux. AxÁøμ Cuμ C»õ£® ©ØÖ® 
Põ¨¦ £Qº¢uÎUP¨£hÂÀø». 

20. From the following information of ABC Bank, prepare 
profit and loss account for the year ended 31st March, 
2013.  

 (in 000s) 

Interest on Loans 2,590

Commission 82

Discount on Bills 1,060

Rent and Taxes 180

Directors Fees 30
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 (in 000s) 

Interest on savings bank deposits 680

Printing and Stationery 29

Interest of Fixed Deposits 3,170

Payment to Employees 540

Interest on Cash Credit  2,230

Interest on Overdrafts  1,540

Auditors Fees 12

Postage and Telegrams 14

Sundry Charges 17

 Additional information : 

 (a) Provide for Contingencies Rs. 2,00,000 

 (b) Transfer Rs. 15,57,000 to reserves and 

 (c) Transfer Rs. 2,00,000 to central government. 

 ABC Á[Q°ß ¤ßÁ¸® uPÁÀPøÍ öPõsk 
31.03.2013® |õ÷Íõk •i¯UTi¯ C»õ£ |mh PnUøP 
u¯õº ö\´P.  

 (‘000 
B°μzvÀ)

Phß «x ö£Ó¨£mh Ámi 2,590

uμS 82

Esi¯À «uõÚ uÒÐ£i 1,060

ÁõhøP ©ØÖ® Á› 180

C¯US|º Pmhn® 30

÷\ª¨¦ Á[Q øÁ¨¦ «uõÚ Ámi 680

Aa_ ©ØÖ® GÊxö£õ¸Ò 29



D–6623 
    16

 (‘000 
B°μzvÀ)

{ø» øÁ¨¦ «uõÚ Ámi 3,170

öuõÈ»õÎPÐUS ö\¾zv¯x 540

öμõUPPhß «uõÚ Ámi 2,230

Á[Q ÷©ÀÁøμ¨£ØÖ «uõÚ Ámi 1,540

uoUøP¯õÍºPÒ Pmhn® 12

u£õÀ ©ØÖ® u¢v 14

£Ø£» ö\»ÂÚ[PÒ 17

 TkuÀ ÂÁμ[PÒ : 

 (A) Gvº£õμõu JxUS ¹. 2,00,000. 

 (B) ¹. 15,57,000 ö£Ö©õÚ öuõøP Põ¨¤ØS ©õØÓ 
÷Ásk®. 

 (C) ¹. 2,00,000 ö£Ö©õÚ öuõøP ©zv¯ Aμ]ß {vUS 
©õØÓ ÷Ásk®.  

 

––––––––––– 



  

D–6624      

 
DISTANCE EDUCATION 

COMMON FOR M.Com./M.Com. (F & C) DEGREE 
EXAMINATION, DECEMBER 2024. 

Fourth Semester 

MANAGEMENT ACCOUNTING 

(CBCS 2018–2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL the questions. 
 

1. Define Management accounting. 

 ÷©»õsø© PnUQ¯ø» Áøμ¯ÖUP. 

2. List out any two uses of Management Accounting. 

 ÷©»õsø© PnUQ¯¼ß H÷uÝ® Cμsk £¯ßPøÍ 
£mi¯¼kP. 

3. What is Trend Ratio? 

 ÷£õUS ÂQu® GßÓõÀ GßÚ? 

4. What is Ratio Analysis? 

 ÂQu £S¨£õ´Ä GßÓõÀ GßÚ? 

5. What is Current Asset? 

 |h¨¦a ö\õzx GßÓõÀ GßÚ? 

Sub. Code 
31041/33541
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6. What is Cash Flow Statement? 

 öμõUP Kmh AÔUøP GßÓõÀ GßÚ? 

7. Define the term Budgetary Control. 

 vmh £mi¯¼ß Pmk¨£õk GÝ® £uzøu Áøμ¯ÖUP. 

8. What is Cash Budget? 

 öμõUP vmh¨£mi¯À GßÓõÀ GßÚ? 

9. What is Marginal Costing? 

 CÖv{ø» AhUPÂ¯À GßÓõÀ GßÚ? 

10. What is meant by Margin of safety? 

 £õxPõ¨¦ GÀø» £ØÔ AÔÁx GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL the questions, choosing either (a) or (b). 

11. (a) Briefly discuss the scope of Management 
Accounting. 

  ÷©»õsø© PnUQ¯¼ß GÀø»ø¯ _¸UP©õP 
ÂÁõvUP. 

Or 

 (b) State the importance of Management Accounting. 

  ÷©»õsø© PnUQ¯¼ß •UQ¯zxÁzøu u¸P. 

12. (a) What are the objectives of financial statements? 

  {v{ø» AÔUøP°ß ÷|õUP[PÒ ¯õøÁ? 

Or 
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 (b) (i) Current Ratio – 2.5,   
Working Capital Rs. 60,000.   
Calculate the amount of current assets and 
current liabilities. 

  (ii) Opening Stock Rs. 29,000,   
Closing Stock Rs. 31,000,   
Sales Rs. 3,20,000,   
Gross Profit Ratio 25% on sales.   
Calculate Stock Turnover Ratio. 

  (i) |h¨¦ ÂQu® – 2.5;   
|øh•øÓ ‰»uÚ® – ¹. 60,000,   
|h¨¦ ö\õzxUPÒ ©ØÖ® |h¨¦ ö£õÖ¨¦PøÍ 
PnUQkP. 

  (ii) öuõhUP \μUQ¸¨¦ ¹. 29,000;   
CÖv \μUQ¸¨¦ ¹. 31,000,   
ÂØ£øÚ ¹. 3,20,000.   
ö©õzu »õ£ ÂQu® – ÂØ£øÚ°À 25%. 
\μUQ¸¨¦ _ÇØ] ÂQuzøuU PnUQkP. 

13. (a) Calculate funds from operations from the following 
profit and Loss account :  

Particulars Rs. Particulars Rs. 

To Salaries 11,000 By Gross Profit 2,10,000

To Rent 2,000 By Profit on  

To Commission 3,000  sale of asset 7,000

To Provision   By Refund of Tax 3,000

for depreciation 12,000  

To Transfer to    

general reserve 22,000  

To Provision for tax 5,000  

To Loss on sale of investment 15,000  

To Discount on issue of shares 2,000  

To Preliminary expenses 3,000  

To Selling expenses 20,000  

To Net Profit 1,25,000  

 2,20,000  2,20,000
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  ö\¯À£õkPÎ¼¸¢x  ö£ØÓ {vø¯ ¤ßÁ¸® »õ£ 
|mh PnUQ¼¸¢x PnUQkP. 

Â£μ[PÒ ¹. Â£μ[PÒ ¹. 

\®£Í[PÒ 11,000 ö©õzu »õ£® 2,10,000

ÁõhøP 2,000 ö\õzxPøÍ  

PÈÄ 3,000 ÂØÓvÀ »õ£® 7,000

÷u´©õÚ JxUS 12,000 Á› v¸®£ ö£ØÓx 3,000

ö£õxUPõ¨¤ØS ©õØÔ¯x 22,000  

Á› JxUS 5,000  

•u½møh ÂØÓvÀ |mh® 15,000  

£[S öÁÎ±mk uÒÐ£i 2,000  

öuõhUPa ö\»ÄPÒ 3,000  

ÂØ£øÚ ö\»ÄPÒ 20,000  

{Pμ »õ£® 1,25,000  

 2,20,000  2,20,000

Or 

 (b) From the following balances you are required to 
calculate cash from operations. 

 2016  2017   2016 2017 

 Rs.  Rs.   Rs. Rs. 

Debtors 50,000  47,000  Accrued income 600 750

Bills receivable 10,000  12,500  Income received

Creditors 20,000  25,000   in advance 300 250

Bills payable 8,000  6,000  Profit made  

Outstanding     during the year – 1,30,000

 expenses 1,000  1,200   

Prepaid expenses 800  700   
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  ¤ßÁ¸® C¸¨¦PÎ¼¸¢x ö\¯À£õkPÎ¼¸¢x 
Qøhzu öμõUPzøu PnUQkP. 
 2016 2017   2016 2017 
 ¹. ¹.   ¹. ¹. 

PhÚõÎPÒ 50,000 47,000  ö£Ó÷Ási¯  

ö£ÖuØS›¯ ©õØÖa^mk 10,000 12,500   Á¸©õÚ[PÒ 600 750
PhÜ¢÷uõºPÒ 20,000 25,000  •ßTmi ö£Ó¨£mh

ö\¾zxuØS›¯    Á¸©õÚ® 300 250
©õØÖa^mk 8,000 6,000  AÆÁõsiÀ  

öPõk£h ÷Ási¯    Dmi¯ C»õ£® – 1,30,000
ö\»ÂÚ[PÒ 1,000 1,200   

•ßTmi ö\¾zv¯     

ö\»ÂÚ[PÒ 800 700   

14. (a) What are the requisites of a good budgetary control? 

  J¸ |À» vmh¨£mi¯À Pmk¨£õmiß 
•ß÷uøÁPÒ ¯õøÁ? 

Or 

 (b) From the information given below prepare flexible 
budget at 60% and 80% capacities : 

Particulars At 75% capacity

    Rs. 

Variable overheads :   

 Indirect Material 7,500 

 Indirect Labour  22,500 

Semi-variable overheads :  

 Electricity (40% fixed) 37,500 

 Repairs and Maintenance  (80% fixed) 3,750 

Fixed overheads :  

 Salaries 1,00,000 

 Insurance 5,000 

 Depreciation 25,000 
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  ¤ßÁ¸® Â£μ[PøÍU öPõsk 60%, 80% 

BØÓ¾USz uUP£i ö|QÌÄz vmhzvøÚ u¯õº 

ö\´P. 

Â£μ[PÒ 75% BØÓ¼À

    ¹. 

©õÓUTi¯ ÷©Øö\»ÄPÒ :   

 ©øÓ•P ö\»ÄPÒ 7,500 

 ©øÓ•P T¼  22,500 

£Sv ©õÓUTi¯ ÷©Øö\»ÄPÒ :  

 ªß\õμ ö\»Ä (40% ©õÓõx) 37,500 

 £Êx£õº¨¦® £μõ©›¨¦® (80% ©õÓõx) 3,750 

©õÓõu ö\»ÄPÒ :  

 \®£Í® 1,00,000 

 Põ¨¥k 5,000 

 ÷u´©õÚ® 25,000 

15. (a) From the following figures you are required to 

calculate the following : 

  (i) Profit Volume Ratio  

  (ii) Margin of Safety  

  (iii) Sales  

  (iv) Variable Cost 

   Fixed Cost Rs. 12,000, Profit Rs. 1,000, Break 

Even Sales Rs. 60,000. 
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  RÌUPsh Â£μ[PøÍU öPõsk ¤ßÁ¸£ÁÚÁØøÓ 

Psk¤iUP. 

  (i) C»õ£ £[PÎ¨¦ ÂQu® 

  (ii) £õxPõ¨¦ GÀø» 

  (iii) ÂØ£øÚ 

  (iv) ©õÖ® ö\»ÄPÒ. 

   {ø»a ö\»ÄPÒ ¹. 12,000, C»õ£® ¹. 1,000, 

\©{ø» ÂØ£øÚ ¹. 60,000. 

Or 

 (b) You are given the following extracts : 

  Fixed expenses Rs. 4,000, Selling price Rs. 80 per 

unit, Variable expenses Rs. 60 per unit Calculate 

Breakeven point in units and in rupees. 

  RÌUPsh öuõøPPÒ öPõkUP¨£mkÒÍÚ. 

  {ø»¯õÚ ö\»ÄPÒ ¹. 4,000, ÂØ£øÚ Âø» Kº 

A»SUS ¹. 80, ©õÖ® ö\»ÄPÒ  Kº A»SUS  

¹. 60. \©{ø»¨ ¦ÒÎ GsoUøP°¾® ¹£õ°¾® 

PnUQkP.  

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. What are the steps to be taken while installing a 

management accounting system? 

 ÷©»õsø© PnUQß •øÓPøÍ {ÖÄu¼À EÒÍ 

£À÷ÁÖ £iPÒ ¯õøÁ? 
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17. You are given the following : 

Balance Sheet as on 30th June 
Liabilities 2009  2010  Assets 2009 2010

 Rs.  Rs.   Rs. Rs. 

Bills payable 50  75  Cash 50 70

Tax payable 100  150  Debtors 300 450

Sundry creditors 150  200  Stock 100 200

15% debentures 100  150  Land 100 120

10% preference capital 200  200  Building 250 225

Equity capital 300  300  Plant 200 180

Reserves 200  250  Furniture 100 80

 1,100  1,325   1,100 1,325

 Prepare a comparative balance sheet and a common size 
balance sheet. 

 R÷Ç EÒÍ Â£μ[PÒ uμ¨£mkÒÍÚ. 

C¸¨¦{ø»U SÔ¨¦ áüß 30 AßÖ 
ö£õÖ¨¦PÒ  2009  2010  ö\õzxUPÒ 2009 2010

 ¹.  ¹.   ¹. ¹. 

ö\/©õ ^mk 50  75  öμõUP® 50 70
Á› ö\¾zu ÷Ási¯x 100  150  PhÚõÎPÒ 300 450
PhÜ¢÷uõº 150  200  \μUQ¸¨¦ 100 200
15% Phß£zvμ[PÒ 100  150  {»® 100 120
10% •ßÝ›ø© £[SPÒ 200  200  Pmhh® 250 225
\õuõμn £[SPÒ 300  300  C¯¢vμ® 200 180
Põ¨¦PÒ  200  250  AøÓP»ß 100 80

 1,100  1,325   1,100 1,325

 J¨¥mk C¸¨¦ {ø»U SÔ¨ø£²®, \©AÍÄ 
C¸¨¦{ø»U SÔ¨ø£²® u¯õ›UPÄ®. 
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18. From the following Balance sheets prepare fund flow 
statement : 

 31st Dec.     31st Dec.  

Liabilities 2013  2014  Assets 2013 2014 

 Rs.  Rs.   Rs. Rs. 

Share capital 3,00,000  4,00,000  Machinery 50,000 60,000

Creditors 1,00,000  70,000  Furniture 10,000 15,000

Profit and      Stock 85,000 1,05,000

Loss account 15,000  30,000  Debtors 1,60,000 1,50,000

     Cash 1,10,000 1,70,000

 4,15,000  5,00,000   4,15,000 5,00,000

 ¤ßÁ¸® C¸¨¦{ø» SÔ¨¤¼¸¢x {v Kmh 
AÔUøPø¯ u¯õ›UP. 

 31 i\®£º     31 i\®£º  
ö£õÖ¨¦PÒ  2013  2014  ö\õzxUPÒ 2013 2014 

 ¹.  ¹.   ¹. ¹. 

£[S •uÀ 3,00,000  4,00,000  C¯¢vμ® 50,000 60,000
PhÜ¢÷uõºPÒ 1,00,000  70,000  AøÓP»ß 10,000 15,000
C»õ£ |mhU     \μUQ¸¨¦ 85,000 1,05,000
PnUS 15,000  30,000  PhÚõÎPÒ 1,60,000 1,50,000

     öμõUP® 1,10,000 1,70,000

 4,15,000  5,00,000   4,15,000 5,00,000

19. Prepare a cash budget from April to June : 
Months Sales 

(Rs.) 
Purchases 

(Rs.) 
Expenses 

(Rs.) 

February 1,80,000 1,24,800 12,000

March 1,92,000 1,44,000 14,000

April 1,08,000 2,43,000 11,000

May 1,74,000 2,46,000 10,000

June 1,26,000 2,68,000 15,000
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 50% of the credit sales is collected in the month following 
and the remaining in the second month 50%. Credit 
purchases are paid in the next month. Cash at bank on 1st 
April  
Rs. 25,000. 

 H¨μÀ •uÀ áüß Áøμ°»õÚ Põ»zvØUS öμõUP 
vmhzøu u¯õ›UP. 

©õu[PÒ Phß 
ÂØ£øÚ 

(¹.) 

öPõÒ•uÀ
(¹.) 

T¼ 
(¹.) 

¤¨μÁ› 1,80,000 1,24,800 12,000
©õºa 1,92,000 1,44,000 14,000
H¨μÀ 1,08,000 2,43,000 11,000
÷© 1,74,000 2,46,000 10,000
ãß 1,26,000 2,68,000 15,000

 Phß ÂØ£øÚ°À 50% ÂØ£øÚø¯z öuõhº¢x Á¸® 
Akzu ©õuzv¾®, «u® 50% CμshõÁx ©õuzv¾® 
Á`»õS®. Phß öPõÒ•uÀ öuõøP¯õÚx Akzu ©õu® 
ö\¾zu¨£k®. H¨μÀ •uÀ |õÎÀ EÒÍ Á[Q C¸¨¦  
¹. 25,000. 

20. From the following information, recommend the best 
sales mix : 

 Sales Mixtures: 

 (a) 250 units of X and 250 units of Y 

 (b) 400 units of X and 100 units of Y 

 (c) 400 units of Y only 

 (d) 150 units of X and 350 units of Y 

 Information : 

 Direct Materials: X-Rs. 8 per unit; Y-Rs. 6 per unit  

 Direct Wages: X- Rs 6 per unit; Y-Rs. 4 per unit  

 Variable Overhead 150% of Direct Wages  

 Fixed Overhead Rs. 750 
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 Selling Price: X-Rs. 25 per units; Y-Rs.20 per unit. 

 RÌUPsh uPÁÀPøÍU öPõsk G¢u ÂØ£øÚ P»øÁø¯ 
÷uº¢öukUP»õ® Gß£øu £›¢xøμUP. 

 ÂØ£øÚ P»øÁ : 

 (A) X-À 250 A»SPÒ ©ØÖ® Y-À 250 A»SPÒ 

 (B) X-À 400 A»SPÒ ©ØÖ® Y-À 100 A»SPÒ 

 (C) Y-À ©mk® 400 A»SPÒ 

 (D) X-À 150 A»SPÒ ©ØÖ® Y-À 350 A»SPÒ. 

 uPÁÀPÒ : 

 ÷|μi ö£õ¸mPÒ – X-Kμ»QØS ¹. 8; Y-Kμ»QØS ¹. 6 

 ÷|μi T¼ – X–Kμ»QØS ¹. 6; Y-Kμ»QØS ¹. 4 

 ©õÖ® ÷©Øö\»ÄPÒ – ÷|μi T¼°À 150% 

 {ø»¯õÚ ÷©Øö\»ÄPÒ ¹. 750 

 ÂØ£øÚ Âø» – X-Kμ»QØS ¹. 25; Y-Kμ»QØS ¹. 20. 

 

––––––––––– 
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DISTANCE EDUCATION 

M.Com. DEGREE EXAMINATION, DECEMBER 2024. 

Fourth Semester 

PRINCIPLES AND PRACTICE OF SERVICES MARKETING 

(CBCS 2018–2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Difference between goods and services. 

 ö£õ¸mPÒ ©ØÖ® ÷\øÁPÐUS Cøh°»õÚ 
÷ÁÖ£õkPøÍ u¸P. 

2. What is service design? 

 ÷\øÁ ÁiÁø©¨¦ GßÓõÀ GßÚ? 

3. Infer the term sales promotion. 

 ÂØ£øÚ FUSÂ¨¦ GßÓ ö\õÀø» FQzx GÊxP. 

4. What is quality management? 

 uμ ÷©»õsø© GßÓõÀ GßÚ? 

5. What are the channels of distribution for services? 

 ÷\øÁPÐUPõÚ Â{÷¯õP ÁÈPÒ ¯õøÁ? 

6. What are the steps of market communication? 

 \¢øu uPÁÀöuõhº¤ß £iPÒ ¯õøÁ? 

Sub. Code 
31042 
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7. State any two purposes of relationship marketing. 

 EÓÄa \¢øu¨£kzu¼ß ÷|õUP[PÎÀ H÷uÝ® 
CμsiøÚ TÖP. 

8. What are the benefits of service culture? 

 ÷\øÁ P»õa\õμzvß |ßø©PÒ ¯õøÁ? 

9. Infer the term Personal Care Marketing. 

 uÛ|£›ß £μõ©›¨¦ ö£õ¸mPÐUPõÚ \¢øu¨£kzuÀ 
GßÓ ö\õÀø» FQzx GÊxP. 

10. State any two functions of consultancy services. 

 B÷»õ\øÚ ÷\øÁPÎß ö\¯À£õkPÎÀ H÷uÝ® 
CμsiøÚ TÖP. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) Describe the characteristics of services with 
examples. 

  ÷\øÁPÎß £s¦PøÍ GkzxUPõmkPÐhß 
ÂÁ›UP. 

Or 

 (b) Emphasize the rationale growth of the service 
sector in India. 

  C¢v¯õÂÀ ÷\øÁz xøÓ°ß £SzuÔÄ ÁÍºa]ø¯ 
Á¼²ÖzxP. 

12. (a) Examine the various approach to pricing services. 

  Âø»°hÀ ÷\øÁPÐUPõÚ £À÷ÁÖ 
AqS•øÓPøÍ Bμõ´P. 

Or 
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 (b) Enumerate the importance of product planning and 
development. 

  u¯õ›¨¦ vmhªhÀ ©ØÖ® ÷©®£õmiß 
•UQ¯zxÁzøu £mi¯¼kP. 

13. (a) How do you determine the communication 
objectives? Elucidate. 

  uPÁÀöuõhº¤ß ÷|õUP[PøÍ GÆÁõÖ 
wº©õÛ¨£x? öuÎÄ£kzxP. 

Or 

 (b) Portray the advantages of franchising. 

  E›ø©¯õÍ›ß |ßø©PøÍ ]zu›zx TÖP. 

14. (a) Highlight the role and responsibility of frontline 
employees. 

  •ßÚo FÈ¯ºPÎß £[S ©ØÖ® ö£õÖ¨ø£ 
•ßÛø»¨£kzxP. 

Or 

 (b) Classify the physical evidence and its significance. 

  ÷|μi \õßÖPÒ ©ØÖ® Auß •UQ¯zxÁzøu 
ÁøP¨£kzxP. 

15. (a) Indicate the benefits of market segmentation in 
service marketing. 

  ÷\øÁ \¢øu¨£kzu¼À \¢øu¨ ¤›Âß 
|ßø©PøÍU SÔ¨¤kP.  

Or 

 (b) Demonstrate any five service marketing strategies 
for higher-educational institutions. 

  E¯ºPÀÂ {ÖÁÚ[PÐUPõÚ H÷uÝ® I¢x ÷\øÁ 
\¢øu¨£kzuÀ EzvPøÍ ÂÍUSP.  
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SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Elaborate on the importance of services in the Indian 
environment and also the classification of services. 

 C¢v¯a `Ç¼À ÷\øÁPÎß •UQ¯zxÁzøu²®, 
÷\øÁPÎß ÁøP¨£õmøh²® Â›Ä¨£kzxP. 

17. Critically examine the significance of the seven Ps in the 
service marketing mix. 

 ÷\øÁ \¢øu¨£kzuÀ P»øÁ°À HÊ ‘‘P’’ PÎß 
•UQ¯zxÁzøu Â©º\Ú Ÿv¯õP Bμõ´P. 

18. Explain the important to select proper channel of 
communication and evaluate the communication process. 

 \›¯õÚ uPÁÀöuõhº¦ Â{÷¯õP ÁÈPøÍz 
÷uº¢öuk¨£x ©ØÖ® uPÁÀöuõhº¦ ö\¯À•øÓø¯ 
©v¨¤kÁx •UQ¯® Gß£øu ÂÍUSP. 

19. Examine the significance of people in the service 
marketing mix and explain the role of service personnel. 

 ÷\øÁ \¢øu¨£kzuÀ P»øÁ°À EÒÍÁºPÎß 
•UQ¯zxÁzøu Bμõ´¢x ÷\øÁ £o¯õÍºPÎß £[øP 
ÂÍUSP. 

20. Discuss the effective methods to measure service quality 
and also new tools for achieving service quality. 

 ÷\øÁ°ß uμzøu AÍÂkÁuØPõÚ £¯ÝÒÍ •øÓPÒ 
©ØÖ® ÷\øÁ uμzøu AøhÁuØPõÚ ¦v¯ P¸ÂPøÍ¨ 
£ØÔ ÂÁõvUP. 

 

––––––––––– 
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DISTANCE EDUCATION 

M.Com. DEGREE EXAMINATION, DECEMBER 2024. 

Fourth Semester 

ORGANIZATIONAL BEHAVIOUR 

(CBCS 2018–2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. Define Organisational Behaviour. 

 {ÖÁÚ |hzøuø¯ Áøμ¯ÖUP. 

2. Define the term Personality. 

 BÐø©zvÓß GÝ® £uzøu Áøμ¯ÖUP. 

3. What is Perception? 

 ¦»qºÄ GßÓõÀ GßÚ? 

4. What is group cohesiveness? 

 SÊ JØÖø© GßÓõÀ GßÚ? 

5. Who is a change agent? 

 ©õØÖ •PÁº ¯õº? 

6. What is Organisational Culture? 

 {ÖÁÚ P»õa\õμ® GßÓõÀ GßÚ? 

Sub. Code 
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7. What do you mean by Organisational Climate? 

 {ÖÁÚ Põ»{ø» £ØÔ }Âº AÔÁx GßÚ? 

8. What is meant by Emotional Intelligence? 

 EnºÄ ~snÔÄ £ØÔ AÔÁx GßÚ? 

9. What is Counselling? 

 P¸zxøμ ÁÇ[PÀ GßÓõÀ GßÚ? 

10. What is meant by Communication? 

 uPÁÀöuõhº¦ £ØÔ AÔÁx GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL the questions, choosing either (a) or (b). 

11. (a) Bring out the nature of organisational behavior. 

  {ÖÁÚ |hzøu°ß ußø©PøÍ öÁÎUöPõnºP. 

Or 

 (b) How does personality relate to organisational 
behavior? Explain. 

  BÐø©zvÓÚõÚx G¨£i {ÖÁÚ |hzøu²hß 
öuõhº¦øh¯uõS®? ÂÍUSP. 

12. (a) State the characteristics of value. 

  ©v¨¤ß Snõv]¯[PøÍU TÖP. 

Or 

 (b) What are the characteristics of group? 

  SÊÂß Snõv]¯[PÒ ¯õøÁ? 
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13. (a) How will you overcome resistance to change? 

  ©õØÓzvØPõÚ Gvº¨ø£ GÆÁõÖ \©õÎ¨£x? 

Or 

 (b) What are the merits of organisational development? 

  {ÖÁÚ •ß÷ÚØÓzvß |ßø©PÒ ¯õøÁ? 

14. (a) Briefly explain the different stages of conflicts. 

  •μs£õmiß öÁÆ÷ÁÖ £i{ø»PøÍ _¸UP©õP 
ÂÍUSP. 

Or 

 (b) What are the disadvantages of career planning? 

  öuõÈÀ vmhªku¼ß wø©PÒ ¯õøÁ? 

15. (a) What are the advantages of Emotional Intelligence? 

  EnºÄ ~snÔÂß |ßø©PÒ ¯õøÁ?  

Or 

 (b) Distinguish between formal and informal 
communication. 

  •øÓ¯õÚ ©ØÖ® •øÓ\õμõ uPÁÀöuõhº¦PøÍ 
÷ÁÖ£kzxP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Describe the various theories of personality in brief.  

 BÐø©zvÓÛß £À÷ÁÖ ÷Põm£õmiøÚ _¸UP©õP 
ÂÍUSP. 

17. Explain the different types of groups in detail. 

 SÊÂß öÁÆ÷ÁÖ ÁøPPøÍ Â›ÁõP ÂÍUSP. 



D–6626 
    4

18. Discuss the various factors affecting organizational 
change. 

 {ÖÁÚ ©õØÓzøu £õvUS® £À÷ÁÖ PõμoPøÍ¨ £ØÔ 
ÂÁõvUPÄ®. 

19. Explain the different types of emotion. 

 Enºa]°ß öÁÆ÷ÁÖ ÁøPPøÍ _¸UP©õP ÂÍUSP. 

20. Enumerate the various dimensions of knowledge 
management. 

 AÔÄ ÷©»õsø©°ß £À÷ÁÖ £›©õn[PøÍ 
GkzxøμUP. 

––––––––––– 
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PART A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. State any three objectives of retailing. 

 ]À»øÓ ÂØ£øÚ°ß H÷uÝ® ‰ßÖ ÷|õUP[PøÍ TÖP. 

2. What are the types of non cyclic theories? 

 _ÇØ] AÀ»õu ÷Põm£õkPÎß ÁøPPÒ ¯õøÁ? 

3. Mention the differences between super store and hyper 
market. 

 `¨£º ì÷hõº ©ØÖ® øí£º ©õºUöPm Cøh÷¯ EÒÍ 
÷ÁÖ£õkPøÍU SÔ¨¤kP. 

4. What is retail location? 

 ]À»øÓ ÂØ£øÚ Ch® GßÓõÀ GßÚ? 

5. What you mean by brand management? 

 uμÁøP ÷©»õsø© £ØÔ }Âº AÔÁx GßÚ? 
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6. Write a note on skimming pricing. 

 HØÔ CÓUPÀ Âø» {ºn¯® £ØÔ SÔ¨¦ GÊxP. 

7. What is promotion mix in retailing? 

 ]À»øÓ ÂØ£øÚ°À ÷©®£õmk P»øÁ GßÓõÀ GßÚ? 

8. Give the meaning of industrial goods. 

 öuõÈØ\õø» ö£õ¸mPÎß ö£õ¸øÍ u¸P. 

9. What is meant by material handling system? 

 ‰»¨ö£õ¸Ò øP¯õÐuÀ Aø©¨¦ £ØÔ AÔÁx GßÚ? 

10. Define the term franchisee. 

 uÛ²›ø© GÝ® £uzøu Áøμ¯ÖUP. 

PART B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) Briefly explain the challenges to retail development 
in India. 

  C¢v¯õÂÀ ]À»øÓ ÂØ£øÚ ÁÍºa]°À EÒÍ 
\ÁõÀPøÍ _¸UP©õP ÂÍUSP. 

Or 

 (b) State the methods of customer interaction. 

  ÁõiUøP¯õÍº öuõhº¦ •øÓPøÍU TÖP. 

12. (a) What are the stages involved in consumer decision 
making process? 

  ~Pº÷Áõº •iöÁkzuÀ ö\¯À£õmiÀ EÒÍ 
{ø»PÒ ¯õøÁ? 

Or 

 (b) List out the types of retail location. 

  ]À»øÓ ÂØ£øÚ C¸¨¤h ÁøPPøÍ £mi¯¼kP. 
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13. (a) What are the factors that influence pricing? 
Explain. 

  Âø»ø¯ £õvUS® PõμoPÒ ¯õøÁ? ÂÍUSP. 

Or 

 (b) Describe briefly the objectives of sales promotion. 

  ÂØ£øÚ ÷©®£õmiß ÷|õUP[PøÍ _¸UP©õP 
ÂÁ›UP. 

14. (a) Bring out the characteristics of relationship 
marketing. 

  EÓÄa \¢øu¨£kzu¼ß ]Ó¨¤¯À¦PøÍ 
öÁÎUöPõnºP. 

Or 

 (b) What is multilevel marketing? State its importance. 

  £i{ø» \¢øu¨£kzuÀ GßÓõÀ GßÚ? Auß 
•UQ¯zxÁzøuU TÖP. 

15. (a) Write briefly the functions of warehousing. 

  Qh[SPÎß £oPøÍ _¸UP©õP GÊxP.  

Or 

 (b) Briefly explain the significance of franchisee in 
channel decision. 

  ÁÈ •iöÁkzu¼À uÛ²›ø©°ß •UQ¯zxÁzøu 
_¸UP©õP ÂÍUSP. 

PART C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Discuss the various classifications of retail formats. 

 ]À»øÓ ÁiÁ[PÎß £À÷ÁÖ ÁøP¨£õkPøÍ¨ £ØÔ 
ÂÁõvUP. 



D–6627 
    4

17. What is retail market segmentation? Explain its benefits. 

 ]À»øÓ \¢øu¨ ¤›Ä GßÓõÀ GßÚ? Auß |ßø©PøÍ 
ÂÍUSP. 

18. Describe the advantages and disadvantages of 
advertising. 

 ÂÍ®£μzvß |ßø©PÒ ©ØÖ® wø©PøÍ ÂÁ›UP. 

19. Enumerate the functions of marketing channel. 

 \¢øu°¯À ÁÇ[PÀ ÁÈ°ß £oPøÍU PnUQkP. 

20. Explain the role played by the wholesalers and retailers 
as market intermediaries. 

 ö©õzu ÂØ£øÚ¯õÍºPÒ ©ØÖ® ]À»øÓ 
ÂØ£øÚ¯õÍºPÒ \¢øu CøhzuμPºPÍõP ÁQUS® £[øP 
ÂÍUSP. 

 

––––––––––– 


